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Roll Number

Name of the Candidate

Examination Name KVS KP TGT Science

Exam Date & Time 12-02-2023 03:00:00

Subject : GE_Q01-Q10_KPTGTSCI
Question ID:- 11

FIDELITY
Choose the word similar in meaning to the one given above :
(1) Fame

(2) Loyalty

(3) Affection

(4) Joy
Options:-

.1, Option ID :- 41,
« 2, Option ID :- 42,
. 3, Option ID :- 43,

. 4, Option ID :- 44,
Answer Given:- 2, Option ID : -42

Question ID:- 12

IMPENDING
Choose the word similar in meaning to the one given above :
(1) Incidental

(2) Interesting

(3) Serious

(4) Imminent
Options:-

.1, Option ID :- 45,
. 2, Option ID :- 46,
. 3, Option ID :- 47,

. 4, Option ID :- 48,
Answer Given:- 3, Option ID : -47

Question ID:- 13
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Identify the Part of Speech of the underlined word in the following sentence.

He bought me a walking stick.

(1) Noun

(2) Verb

(3) Adjective

(4) Adverb
Options:-

.1, Option ID :- 49,
« 2, Option ID :- 50,
. 3, Option ID :- 51,

. 4, Option ID :- 52,
Answer Given:- 3, Option ID : -51

Question ID:- 14

He gave me a beautiful book.

Choose the option in which the above sentence has been changed into Passive Voice :
(1) A beautiful book was given to me by him.

(2) A beautiful book was given to me.

(3) I was given a beautiful book.
(4)

4 [ have been given a beautiful book.

Options:-

.1, Option ID :- 53,
. 2, Option ID :- 54,
. 3, Option ID :- 55,

. 4, Option ID :- 56,
Answer Given:- 1, Option ID : -53

Question ID:- 15

He said to me, “Will you please help me ?”

Choose the option in which the above sentence has been changed into Indirect Speech :
(1) He requested me if I will help him.

(2) He asked me if I would please help him ?

(3) He requested me if I would help him.

(4) He asked me if I shall help me.

Options:-

.1, Option ID :- 57,
. 2, Option ID :- 58,
. 3, Option ID :- 59,

. 4, Option ID :- 60,
Answer Given:- 3, Option ID : -59

Question ID:- 16
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Rearrange the following jumbled words/phrases into a meaningful and grammatically correct
sentence.

(A) her second one
(B) her mother

(C) child,

(D) to another

(

E) gave birth
(1) ACBDE
(2) BEDCA
(3) CEBDA
(4) DACEB

Options:-

.1, Option ID :- 61,
. 2, Option ID :- 62,
. 3, Option ID :- 63,

. 4, Option ID :- 64,
Answer Given:- 2, Option ID : -62

Question ID:- 17

Identify the part of the followings in which there is an error.
Ram told/me that/he has/lost his book.

() (b) () (d)

(1) (a)
(2) (b)
(3) (o)
(4) (d)
Options:-

.1, Option ID :- 65,
. 2, Option ID :- 66,
. 3, Option ID :- 67,

. 4, Option ID :- 68,
Answer Given:- 3, Option ID : -67

Question ID:- 18

Fill in the blank in the sentence given below by choosing option out of the one that follow.
You should be sure that he won't his word.
(1) put up with

(2) go back on

(3) putout of

(4) run away with
Options:-

.1, Option ID :- 69,
. 2, Option ID :- 70,
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. 3, Option ID :- 71,

. 4, Option ID :- 72,
Answer Given:- 1, Option ID : -69

Question ID:- 19

Fill in the blank in the sentence given below by choosing option out of the one that follow.

Lata kicked a row over nothing,.
(1) up

(2) out

(3) off

(4) into

Options:-

.1, Option ID :- 73,
. 2, Option ID :- 74,
. 3, Option ID :- 75,

. 4, Option ID :- 76,
Answer Given:- 1, Option ID : -73

Question ID:- 20

Fill in the blank in the sentence given below by choosing option out of the one that follow.
It will him if he loses the match.

(1) go out with

(2) come outon

(3) go hard with
(4)

4 come off with

Options:-

.1, Option ID :- 77,
. 2, Option ID :- 78,
. 3, Option ID :- 79,

. 4, Option ID :- 80,
Answer Given:- 3, Option ID : -79

Subject : GH_Q11-Q20_KPTGTSCI

Question ID:- 21

== feu 7T TS @ Yeek qaite 3fEd fasen @ =g Hifu-

HARS W AR AT e 9RER 1 e § @ IREaR § Sugiad, sTeaesd, gUEar iR gEs
HAE! HeHl 1 2 S 699§ oreeh wereasy aiar gl @1 iR &1 Hehdl B

qftar & gfEan = 9EiEes W H g 8@ W) 9fER § 1 A § 2

(1) &=-9Hufd
2 T

(3) SAg=IEA
(4) H@<HMAE

Options:-
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.1, Option ID :- 81,
. 2, Option ID :- 82,
. 3, Option ID :- 83,

. 4, Option ID :- 84,
Answer Given:- 3, Option ID : -83

Question ID:- 22

== feu e e @ ygaR waites sEa fasken = wE #ifeu-

T AT I ARG Safd afe IRaR &1 giedn € a1 TiER H SHYmEeEEd, STeed, gUER 3 g
THET GeEl 1 S S 994 & s wereey 9fiar guit i R o9 e 7

Ifar % g™ o1 w96
(1) SR
(2) STATE
(3) TIER
(4) TfER * g
Options:-

.1, Option ID :- 85,
. 2, Option ID :- 86,
. 3, Option ID :- 87,

. 4, Option ID :- 88,
Answer Given:- 4, Option ID : -88

Question ID:- 23

e feu U RIS S ygeRt qaitue sfea fasen @ wam wifeu-

ARG A G AehRid safe At aREr &1 e € @ TER § SHeEEEEd, e, giEn oK gEs
AT HeET 1 A S G99 § e weresy uiar gui #1 R a1 " §l

T % YR T e S Tl & H iR 9T T
(1) 3TEhid SAfH

(2) wHAMEH I

(3) HFEE Hel

(4) wiER % gfen

Options:-

.1, Option ID :- 89,
. 2, Option ID :- 90,
. 3, Option ID :- 91,

. 4, Option ID :- 92,
Answer Given:- 2, Option ID : -90

Question ID:- 24
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== feu 7T e @ ygER waltE 3fEa fasken = wm Fifeu-

e i & ARG Safd afe IRar &1 giean € o TRER H SHymEEnd, Seewe, gUar 3K gEg
T GeEl 1 S S 994§ o wereey giar guit 1 R o9 e 7

gui™ o1 faeiy veg -
1) ¥
(2) ¥g@s
(3) g
(4) Hivrg
Options:-

.1, Option ID :- 93,
. 2, Option ID :- 94,
. 3, Option ID :- 95,

. 4, Option ID :- 96,
Answer Given:- 4, Option ID : -96

Question ID:- 25

== feu 1T e @ ygEk qaitys 3fEa fasken = wm Fwifau-

T A & ARG St afe IRaR &1 giean € TRER H SHYmEaEndT, STeewd, gUar 3K g6
T el 1 S S 994 & o wereey Ifiar guit 1 R o9 w7

o w1 & S SR S-S W g R 2

(1) T=R

(2) SATOTEARA

(3) T=FE

(4) gu
Options:-

.1, Option ID :- 97,
. 2, Option ID :- 98,
. 3, Option ID :- 99,

. 4, Option ID :- 100,
Answer Given:- 2, Option ID : -98

Question ID:- 26

TeHH- TGN Y51 o1 A~ JTH A ¢ ?

(1)  sHfF-3m
(2) TETH-HE
(3) wE-He
(4) &g

Options:-
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.1, Option ID :- 101,
. 2, Option ID :- 102,
. 3, Option ID :- 103,

. 4, Option ID :- 104,
Answer Given:- 4, Option ID : -104

Question ID:- 27

HY 1 HH-H1 @I G € ?
(1) sfa+ sfe = senfe

(2) TS+ B = e

(3) TRl + WA = HERHA

(4) U + ST = HETH

Options:-

.1, Option ID :- 105,
. 2, Option ID :- 106,
. 3, Option ID :- 107,

. 4, Option ID :- 108,
Answer Given:- 3, Option ID : -107

Question ID:- 28

‘fopmr’ w1 wEtHaTE Iss R o
(1) A
(2)
(3)
(4) gfed
Options:-

.1, Option ID :- 109,
. 2, Option ID :- 110,
. 3, Option ID :- 111,

. 4, Option ID :- 112,
Answer Given:- 3, Option ID : -111

Question ID:- 29

frer 9 | foam vIsg 1 SiF-91 79 o761 € 2
(1) =% - gferd

2) AN - AR

(3) 3TE - sTalE

(4) gt - fags
Options:-

.1, Option ID :- 113,

. 2, Option ID :- 114,
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. 3, Option ID :- 115,

. 4, Option ID :- 116,
Answer Given:- 3, Option ID : -115

Question ID:- 30

e 9 fo oreg &
(1) foam

(2) ®AF

(3) e

(4) <l
Options:-

.1, Option ID :- 117,
. 2, Option ID :- 118,
. 3, Option ID :- 119,

. 4, Option ID :- 120,
Answer Given:- 4, Option ID : -120

Subject : GA_Q21-Q30_KPTGTSCI
Question ID:- 31

What is the decimal equivalent of Hexadecimal number 31 ?

(1) 49
(2) 42
(3) 48
(4) 41

HrEY YR HEA 31 W SIHEd WHGed 1 8 2

(1) 49
(2) 42
(3) 48
(4) 41
Options:-

.1, Option ID :- 121,
. 2, Option ID :- 122,
. 3, Option ID :- 123,

. 4, Option ID :- 124,
Answer Given:- 2, Option ID : -122

Question ID:- 32
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Which of the following statement(s) is/are correct ?

(A) Force of friction always opposes motion of objects.

(B) Force of friction always goes along the motion of objects.
(C) Inertia is the natural tendency of objects.

Identify the correct answer from the codes given below :

(1) (B) and (C) are correct

(2) (A) and (C) are correct

(3) Only (A) is correct

(4) Only (B) is correct

frefefad § | A S8 U e 878 2

(A) U H el God aEgai i = & faude @ g
(B) =Wl 1 9 Had AR I A F WY A B
(C) Tl A1 sieed gl i A9fie yafa g

9 feu T w2 @ wE SR H = e
(1) (B) R (C) & &
(2) (A) ¥R Q) 5 E
(3) ol (A) TE ¥
(4) o (B) Tl #

Options:-

.1, Option ID :- 125,
. 2, Option ID :- 126,
. 3, Option ID :- 127,

. 4, Option ID :- 128,
Answer Given:- 2, Option ID : -126

Question ID:- 33

Consider following statements regarding Mission SAGAR :

(A) Under the overall ambit of Mission SAGAR, Indian Navy undertook transhipment of
Humanitarian and Disaster Relief (HADR).

(B) Humanitarian and Disaster Relief (HADR) was provided to countries around the world and
not confined to Indian Ocean Countries only.

Which of the statements given above is/are correct ?

(1)  (A) only

(2)  (B) only

(3) Both (A) and (B)
(4) Neither (A) nor (B)
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fogm ¥R & gay H frfafaa e w foar s
(A) THOF 9FR & 999 R H, W S8 3 AeEdrEEr SR Se UEd (TH.EL AR, ) g 1w

IERI

(B) WHEaTEE! 3K IR T&d (TH. L) THRYE % <1 1 YeH h T i A Few feg e
aTel <e ek & Hifed el ot

IrgE | 9§ FH VA FH W 8?2

(1) @ (A)

(2) %@ (B)

(3) (A) ¥ (B) T

(4) S H TS ot

Options:-

.1, Option ID :- 129,
. 2, Option ID :- 130,
. 3, Option ID :- 131,

. 4, Option ID :- 132,
Answer Given:- 3, Option ID : -131

Question ID:- 34

Match List - I with List - II and select the correct answer using the codes given below :

List - I List - II
(Dronacharya awardees, 2022) (Sports/Games)
(A) Shri Raj Singh (i) Archery
(B) Shri Dinesh Jawahar Lad (i) Boxing
(C) Shri Jiwanjot Singh Teja (iii) Wrestling
(D) Shri Mohammad Ali Qamar (iv) Cricket
Codes :
(a4) (B) (© (D)
(1) (v) @) @ @
(2) @ Gv) @) (@)
®) @ @ (v) (i)
4) () @) @ (i)
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el -1 S geit-11 1 foe Sifs den 9 fou Te e o garT T gu Hel ST 1 994 Hifa

-1 Te-11
(EroTrae qreRTt fasiar 2022) (@)
(A) iU e (i) et
(B) o ferter s wE (ii) HeeRaTS
(C) it Sirgsirg feg st (iii) et
(D) it T STl FHHL (iv) femepe
e :
(A) (B) (€) (D)
1) Gv) (i) (@) ()
2) @ (v) (i) (i)
3 @ @ @v) ()
@) G @) @ ()
Options:-

.1, Option ID :- 133,
. 2, Option ID :- 134,
. 3, Option ID :- 135,

. 4, Option ID :- 136,
Answer Given:- 4, Option ID : -136

Question ID:- 35

Which Title/Book has been selected for the Sahitya Akademi Award 2022 in Assamese
language ?

(1) Bengal Bahu Dur

(2) Bhool Saitya

(3) Dokmokali
(4)

4 Sonar Samus Mukhat Loi

st s H wifec sTeReHl TUERR, 2022 % feru forg ireh/ T&ieh @1 A1 T €2

(1) et sTg g2

(2) ¥t HwEeA

(3) GTRHIEHTEA

(4) HHR HHE qEd s
Options:-

.1, Option ID :- 137,
. 2, Option ID :- 138,
. 3, Option ID :- 139,

. 4, Option ID :- 140,
Answer Given:- 1, Option ID : -137

Question ID:- 36
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Which of the following states in India was given full statehood as a result of a Peace Agreement
signed in 1986 between the Union Government and the leadership of a secessionist movement ?

(1) Tripura

(2) Nagaland
(3) Mizoram
(4) Sikkim

Fg TR 3R JerarE] Al & Jarstl F s 1986 H swneiia s vifa auen & sRumrasy g wa
1 Ul T 1 & (541 T ?

(1) g

(2) ANTedE

(3) fosrE

4) Tafern
Options:-

.1, Option ID :- 141,
. 2, Option ID :- 142,
. 3, Option ID :- 143,

. 4, Option ID :- 144,
Answer Given:- 3, Option ID : -143

Question ID:- 37

Which of the following peaks of the Himalayas is/are located in India ?
(A) Dhaulagiri

(B) Nanga Parbat

(C) Annapurna

(D) Kamet

Choose the correct answer from the codes below :

(1) y (A)
(2) Olﬂy (A) an ( )
(3) Only (B) an
(4) Only (B) and (D)
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fearea =1 frafafas § 9 29 | =991 S99 vra § fRea 22

(A)  Hrafr
(B) =FmraeEd
(C) sy
(D) T
=i fau 70 Fe | W& 3T FH T HIfG
(1) e (A)
(2) A (A) 3 (B)
(3) e (B) 3R (O)
(4) e (B) ¥R (D)
Options:-

.1, Option ID :- 145,
. 2, Option ID :- 146,
. 3, Option ID :- 147,

. 4, Option ID :- 148,
Answer Given:- 2, Option ID : -146

Question ID:- 38

Which of the following is not an example of a Eukaryotic organism ?

(1) Fungi

(2) Chimpanzee
(3) Bacteria
(4) Protozoa

frefafaa o 9 @0 gdm Sg! Sig & TF 38R 76 8 7

(1) heeh
(2) TS
(3) P
(4) HrsE

Options:-

.1, Option ID :- 149,
. 2, Option ID :- 150,
. 3, Option ID :- 151,

. 4, Option ID :- 152,
Answer Given:- 3, Option ID : -151

Question ID:- 39
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Consider the following statements.

(A) The section on ‘Fundamental Duties” was not part of the original Constitution of India adopted
in 1950.

(B) It was inserted through a series of Constitutional amendments in the decade of 1960s.
Choose the correct answer from the code below :

(1) (A) is correct but (B) is wrong

(2) Both (A) and (B) are correct and (B) explains (A)

(3) Both (A) and (B) are correct but (B) does not explain (A)

(4)

4) Neither (A) nor (B) are correct

frefafad el W fomm #ifs -

(A) ‘O wdea’ We 1950 H sitiid YRG % T WlGU & TH IR Tl 911

(B) T 1960 F T¥h | foFT U Haunfer weNeri #t Swen % wieaw W Aafaw foman m e
i< feu U e § WE 3T I =T HIWT

(1) (A)Hﬁ%ﬁﬁ (B) el §

2) (A) 3R (B) THI W&t € 3R (B), (A) I TIE FHW 7

(3) (A) =R ﬁlﬁfﬂﬁ%ﬁﬂ ), (A) T TI8 TE A §
(4) ﬁﬁﬁaﬁé%ﬁﬂé’[ﬂﬁ%l

Options:-

.1, Option ID :- 153,
. 2, Option ID :- 154,
. 3, Option ID :- 155,

. 4, Option ID :- 156,
Answer Given:- 1, Option ID : -153

Question ID:- 40

Which among the following newspapers/journals published in colonial India was not founded by
M.K. Gandhi ?

(1) Nav Jeevan

(2) Indian Opinion
(3) Young India

(4) Bande Mataram

Fufrafer wra & e frg gamer v/ ateed @ e 9.F. T g @l s o ?

(1) =& S
(2) sfesm sifufa
(3) Fusfea
(4) @ T

Options:-
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.1, Option ID :- 157,
. 2, Option ID :- 158,
. 3, Option ID :- 159,

. 4, Option ID :- 160,
Answer Given:- 3, Option ID : -159

Subject : RA_Q31-Q35_KPTGTSCI
Question ID:- 41

The given question is based on the following information :
‘M+N" means ‘M’ is the mother of N;

‘Mx N means ‘M’ is the son of N;

‘M—N" means ‘M’ is the husband of N;

‘M+ N’ means ‘M’ is the sister of N;

If ' D+HXxR—-P+],/ then how is ‘D’ related to ‘]’ ?

(1) Mother

(2) Sister

(3) Wife

(4) Sister-in-law

e 1w Freferfad SeeRrl ot e €1

‘M+N’ &1 3¢ & - M, N &I |1 &

‘Mx N & A4 §- M, N # I3 §

‘M~-N #5194 §- M, NF 1fd §

‘M+N @ 319 §- M, N &l 961 &

Ffg ‘D+HxR-P+J & @D, T 4 fora ur grafemg & 2

(1) =
(2) oA
(3) et
(4) W+t
Options:-

.1, Option ID :- 161,
. 2, Option ID :- 162,
. 3, Option ID :- 163,

. 4, Option ID :- 164,
Answer Given:- 2, Option ID : -162

Question ID:- 42
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Three statements showing relationships have been given, which are followed by two conclusions
I and II. Assuming that the given statements are true, find out which of the conclusions is/are
definitely true.

Statements :

1. P=EQ

2. §=>Q

3. Q=R

Conclusions :

L. R=P

II. R<S

(1) Only conclusion I is true

(2) Only conclusion Il is true

(3) Both conclusions I and II are true
(4) Neither conclusion I nor 11 is true

=i ey gwH arel diF FUF fou T € e @ 21 feed - 1211 feu e € 1 9 wed g R feu T wem
& T, 98 Fa wifs for s qud Tt fafesd wu & wd 2782

he

1. P<Q

2. 5§>Q

3. Q>R

e

I. R=P

II. R<S

(1) Fere forond 1E 2

(2) Faw frehd o &
(3) femdd 1 3l 11 21 W@t &
(4) & frerdl § 9 R ot 5E T8
Options:-

.1, Option ID :- 165,
. 2, Option ID :- 166,
. 3, Option ID :- 167,

. 4, Option ID :- 168,
Answer Given:- 2, Option ID : -166

Question ID:- 43
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Eight friends ], K, L, M, P, Q, R and S are sitting around a square table facing the centre of the
table. Some of them are sitting at the corners while some are sitting at the exact middle of the sides.
‘P’ sits third to the left of ‘R’. ‘I’ sits at one of the corners. ‘K’ sits second to the right of ‘Q’". “Q’ does
not sit at any of the corners. ‘Q’ is notan immediate neighbour of ‘P". ‘S’ is an immediate neighbour
of ‘]". ‘S" does not sit at any of the middle of the sides. Only three persons sit between ‘S” and ‘L.
Who sits second to the left of ‘M" ?

(1) L
(2) Q
@) S
4) P

e A, K, L, M, P, Q, R 3 S U% IIehR TSl o AR 3R I8 o5 i AR GT HTh dS 21 570 4 T
HH X 93 § Tl Fo yenell & foega a9 § 98 €1 P, ROF 90l i i ©E W A9 €1 P UH
FHH d3d €1 K, ‘Q F T IR TH TH W S 71 QR off % H 7€ e §1°Q, ‘P % UHeH
TEIE 7l €1 °S, ‘] 1 UheH TS g1 ‘S forslt oft o0 % o= H 78 Se@ 1S’ R L % &g haw a
feRd 92d B 1M % 919 3T §EK T T iAol § 2

(1) L
(2) Q
3) S
(4) P
Options:-

.1, Option ID :- 169,
. 2, Option ID :- 170,
. 3, Option ID :- 171,

. 4, Option ID :- 172,
Answer Given:- 3, Option ID : -171

Question ID:- 44

Three statements are given, followed by three conclusions I, Il and III. You have to consider these
statements to be true, even if they seem to be at variance from commonly known facts. You are to
decide which of the given conclusions logically follow(s) from the given statements.

Statements :

1.  No chair is table.

2, Some benches are tables.
3. All chairs are Almirahs.
Conclusions :

I. Some Almirahs are tables.
II. Some benches are chairs.
I1I. No table is Almirah.

(1) Only conclusion I follows

(2) Only conclusion II follows

(3) Only conclusions II and III follow

(4) Only Either conclusion I or III follows
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= 919 e fou o fSeer org i Fsd 1, 0 iR I feu 7w €1 efr9eRt 37 el 1 9@l 9 § 9. a9
HIHTIE: Faaed] | = &0 9 81 | g8 i sifse i 3@ qva e fou e sy=i | aifdes w9 9 e
Y,

<heH

1. %0 FH a9 76 2

2. FBAFEAE

3. |l A eremfEr €
et

I &% edfeE 9 € |

. P &9 FHEai €

[ 3hrS B AN 8 8 |

(1) Fae frepd 1 freema €

(2) ae frerd 11 Frerer &

(3) e ferd 11 efr 111 fAeerd @
(4) Faat a1 @ Frewd 1 st freed 101 Freperan @

Options:-

.1, Option ID :- 173,
. 2, Option ID :- 174,
. 3, Option ID :- 175,

. 4, Option ID :- 176,
Answer Given:- 2, Option ID : -174

Question ID:- 45
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Choose the Venn diagram from the options which represents the correct relationship amongst the
given classes :

Chair, Furniture, Cup

U0
O

aD
Q0
. (0)C

fou v fosredl °§ | TH 99 2@ &1 997 Hited S U 0 59 &F o= 9 9et &) <9 &l ;
T, FATER, HY

(2) @ O

(3)

. (0)C

Options:-

(1)
(2)
(3)
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.1, Option ID :- 177,
. 2, Option ID :- 178,
. 3, Option ID :- 179,

. 4, Option ID :- 180,
Answer Given:- 4, Option ID : -180

Subject : CL_Q36-Q40_KPTGTSCI
Question ID:- 46

Which of the following groups of devices are only input devices ?
(1) Keyboard, Monitor, Joystick

(2) Keyboard, Printer, Light pen
(3) Mouse, Scanner, Joystick
(4) Mouse, Microphone, Speaker

frfafad # ¥ %F @ feary 99 Fae 3792 fea=d (Input device) § ?
(1) =I-dre, "M, siafes

(2) @w-are, fiex, ameeta

(3) HRH, ¥R, SEfEE

(4) HISH, HEHIEM, AT
Options:-

.1, Option ID :- 181,
. 2, Option ID :- 182,
. 3, Option ID :- 183,

. 4, Option ID :- 184,
Answer Given:- 3, Option ID : -183

Question ID:- 47

In computer terminology, DPI stands for :

(1) Dots Per Inch

(2) Devices Per Internet

(3) Drops Per Information

(4) Digitally Persistent Information

I YEETae! § ‘DPI &1 31 § ¢
(1) SHwEA

(2) Tearfag w feme

(3) T W SHHETH

(4) fefsee wfgse dRibvA
Options:-

.1, Option ID :- 185,
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. 2, Option ID :- 186,
. 3, Option ID :- 187,

. 4, Option ID :- 188,
Answer Given:- 1, Option ID : -185

Question ID:- 48

Which of the following is an example of Operating System ?

(1) Edge

(2) Word
(3) Firefox
(4) Android

Frafafes ° 9 #0 wp aqfEn fawn = e g ?

Options:-

.1, Option ID :- 189,
. 2, Option ID :- 190,
. 3, Option ID :- 191,

. 4, Option ID :- 192,
Answer Given:- 4, Option ID : -192

Question ID:- 49

Which of the following software you preferred most to write a formal application ?
(1) Microsoft Edge
(2) Microsoft Word
(3) Microsoft Excel
(4)

4 Microsoft Access

s ArEiie erEed (wHe TelieyE) faes % fau e g aiweds i watfus myfasa S 2

(1) HEHHER TH

(2) HEHETR TS

(3) HEHER T

(4) HIEHIETR THH
Options:-

.1, Option ID :- 193,
. 2, Option ID :- 194,
. 3, Option ID :- 195,
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. 4, Option ID :- 196,
Answer Given:- 2, Option ID : -194

Question ID:- 50

Kaspersky, McAfee, Norton, etc. are popular examples of :
(1) Anti Viruses

(2) Trojan Horses

(3) Spam Viruses

(4) Worm Viruses

HOEFTS, TR, e 4G fordes areiad 3eE & 2

(1) T3 arR"

(2) IS e

(3) TH FER"

(4) o aEE
Options:-

.1, Option ID :- 197,
. 2, Option ID :- 198,
. 3, Option ID :- 199,

. 4, Option ID :- 200,
Answer Given:- 1, Option ID : -197

Subject : UL_Q41-Q50_KPTGTSCI
Question ID:- 51

The ‘feeling’ 1s a associated with :
(1) Emotional domain

(2) Affective domain

(3) Cognitive domain

(4) Psychomotor domain

“aqran” FifeRd A 9 fored Hews B
(1) TEATHS &5

(2) WTETEHE &

(3) HIAHS &

(4) HARTITS &5
Options:-

.1, Option ID :- 201,
. 2, Option ID :- 202,
. 3, Option ID :- 203,

. 4, Option ID :- 204,
Answer Given:- 2, Option ID : -202
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Question ID:- 52
What do you understand the term ’growth’ ?
(1) It is social change.
It is emotional change.

(2)
(3) Itis qualitative change.
(4)

It is quantitative change.

‘gfg’ 9 9 st N a2

(1) =% qmifss giEd g1
(2) I HEAHS qREdT § |
(3) & TUIHe GfEd g |
(4) I HEAHH HEdA ¢ |

Options:-

.1, Option ID :- 205,
. 2, Option ID :- 206,
. 3, Option ID :- 207,

. 4, Option ID :- 208,
Answer Given:- 4, Option ID : -208

Question ID:- 53

What is not an Objective of Education ?
(1) To find fault with others

(2) To develop values

(3) To earn livelyhood

(4) To serve society

Treifera 5 | = foren o SRva e & 2
(1) 1= =l | a9 gal

(2) ¥ Sl fasfaa s

(3)  rsiifesht SAfsia T

(4) HHS HAT R
Options:-

.1, Option ID :- 209,
. 2, Option ID :- 210,
. 3, Option ID :- 211,

. 4, Option ID :- 212,
Answer Given:- 1, Option ID : -209

Question ID:- 54
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In education process which one of the following is difficult to evaluate ?

(1) Teaching methods
(2) Content

(3) Attitudes and values
(4) Physical fitness

foren & werm § freAifora § 3 former goisha &t &fed €2

(1)  Toraror faferr

(2) fomzes

(3) e SR Hed

(4) TR e
Options:-

.1, Option ID :- 213,
. 2, Option ID :- 214,
. 3, Option ID :- 215,

. 4, Option ID :- 216,
Answer Given:- 3, Option ID : -215

Question ID:- 55

Which one of the following is important in “growth” ?
(1) Dimensions

(2) Development
(3) Social behaviour
(4) Maturation

‘gfg' # frifera § | 0 AgEyo 82

(1) 3mEm

(2) fas™

(3) EHISF HIER

(4) OREgeE
Options:-

.1, Option ID :- 217,
. 2, Option ID :- 218,
. 3, Option ID :- 219,

. 4, Option ID :- 220,
Answer Given:- 4, Option ID : -220

Question ID:- 56
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Most of the adolescents in school now a days suffer from :
(1) Neurological disorder

(2) Anxiety disorder

(3) Physical disorder
(4)

4 Auditory disorder

= feei foemera § sifusmisr forin form fasrm @ o= &2

(1) dfbermEsta fawr

(2) g fasr

(3) WRIH fawr

(4) = fasr
Options:-

.1, Option ID :- 221,
. 2, Option ID :- 222,
. 3, Option ID :- 223,

. 4, Option ID :- 224,
Answer Given:- 2, Option ID : -222

Question ID:- 57

The teachers in school should extend towards adolescents.
(1) Empathy

(2) co-operation

(3) Emotional support

(4) Sympathy

foame™ & w19ar9e = fheiR & 9 &1 9dig & =1ey ?

(1) 9ugyfd

(2) HEAF

(3) HIEATHE HEAR

(4) Heryfd
Options:-

.1, Option ID :- 225,
. 2, Option ID :- 226,
. 3, Option ID :- 227,

. 4, Option ID :- 228,
Answer Given:- 3, Option ID : -227

Question ID:- 58
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Which one of the following hormones causes aggression among the youth ?
(1) Adrenaline

(2) Insulin

(3) Dopamine
(4)

4 Thyroxjne

feifRd § 9 foe B % R0 qaeh] H 3R 3691 Bl @
(1) wufgAfe

(2) sgfeA

(3) I

(4) o=l
Options:-

.1, Option ID :- 229,
. 2, Option ID :- 230,
. 3, Option ID :- 231,

. 4, Option ID :- 232,
Answer Given:- 1, Option ID : -229

Question ID:- 59

Who will form the bridge between the home and school ?
(1) Parents

(2) Students
(3) Teachers
(4) Management

freifera | | =19 8 3iR faue & #eg |y & % 0?2

(1) #ra-foa
(2) feremefi
(3) AR
(4) HeiHA
Options:-

.1, Option ID :- 233,
. 2, Option ID :- 234,
. 3, Option ID :- 235,

. 4, Option ID :- 236,
Answer Given:- 4, Option ID : -236

Question ID:- 60
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can’t be taught, but can be caught through practicing.

(1) Habits

(2) Knowledge
(3) Attitudes
(4) Values

Fr=ifera & | <0 9o TR o Tl © afcd R T H 5 FMHR R W I AT fHA 51 gl
27

(1) emed
(2) A

(3) @i
4 T
Options:-

.1, Option ID :- 237,
. 2, Option ID :- 238,
. 3, Option ID :- 239,

. 4, Option ID :- 240,
Answer Given:- 1, Option ID : -237

Subject : UTL_Q51-Q65_KPTGTSCI
Question ID:- 61

Which type of motivation is better for learning ?
(1) Intrinsic motivation

(2) Extrinsic motivation
(3) Emotional motivation
(4) Progressive motivation

stferm % fa friferd § 9 9 @ sfiro Seaw € 2
(1)  vAiafis sAfirm

(2) =mEE

(3) HTEATHE UL

(4) IR g sttt
Options:-

.1, Option ID :- 241,
« 2, Option ID :- 242,
. 3, Option ID :- 243,

. 4, Option ID :- 244,
Answer Given:- 1, Option ID : -241

Question ID:- 62
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Which one of the following would enhance learning process in classroom ?
(1) Effective use of Black Board

(2) Less number of students in class

(3) Magnetic personality of teacher

(4) Comfortable furniture

Trifera o 4 foras woreasy #en o Afrm gy &1 Sagq e ?
(1) =iFHAES 1 GNE G2

(2) heT H fagaie w1 %u Hen
(3) SAEATYH 1 SATRYH Al
(4) SARTHIE Wrl=

Options:-

.1, Option ID :- 245,
. 2, Option ID :- 246,
. 3, Option ID :- 247,

. 4, Option ID :- 248,
Answer Given:- 1, Option ID : -245

Question ID:- 63

‘The child falls many times while leamjng cych‘ng’. Which leamjng theory you think can be atributed
this event ?

(1) Trial and error theory of learning

(2) Law of readiness
(3) Insight learning
(4) Perspective learning

‘TTEe I UEH o HH H B O e an T B g T famifen ° 9 fedet 9o ° e & 2

(1)  iferms =61 = SiR fe fasia
(2) gL =1 fEm

(3) rgre AT

(4) e sAferm

Options:-

.1, Option ID :- 249,
. 2, Option ID :- 250,
. 3, Option ID :- 251,

. 4, Option ID :- 252,
Answer Given:- 1, Option ID : -249

Question ID:- 64



https://aview.in/
https://aview.in/category/previous-papers/

As per psychology what should be the best relationship between the teacher and child ?
(1) Official relation

(2) Supportive and emotional relation

(3) Social relation

(4) Cordial relation

THIAI gfte ¥ 1A% IR dicts & 0 Hdl e eF1 91fey 7
(1) A a9y
(2) HESAHF AR WEAHS HY
(3) WIS Hey
(4) HREYY Hay
Options:-
.1, Option ID :- 253,

. 2, Option ID :- 254,
. 3, Option ID :- 255,

2

. 4, Option ID :- 256,
Answer Given:- 2, Option ID : -254

Question ID:- 65

Do you think highly qualified teacher always a successful teacher ?

(1) Yes

(2) No

(3) Not necessary

(4) Less qualified teachers are successful

a9es fa=m o = 5= foenud e Ao 9%a e en § 2

(1 @@

(2) I

(3) YIS e

(4) Y FRICETC SEATIH THA B0 ©
Options:-

.1, Option ID :- 257,
. 2, Option ID :- 258,
. 3, Option ID :- 259,

. 4, Option ID :- 260,
Answer Given:- 3, Option ID : -259

Question ID:- 66
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If a parent wants to get admission for their child in a school, they should look for :
(1) Attractive Building

(2) Air condition Buses
(3) Big play Ground
(4) Good organizational climate

#fg w1 sfusE® 19 Fod &1 fedt faenea § vaw feamn =ea § o 39 Fifera § 9 fegent aam
HEAT B |
(1) IeRbe 9ad

(2) Smrgpied 79
(3) = Ed & HeH
(4) HTET ®1 ITH qREY

Options:-

.1, Option ID :- 261,
. 2, Option ID :- 262,
. 3, Option ID :- 263,

. 4, Option ID :- 264,
Answer Given:- 4, Option ID : -264

Question ID:- 67

If the children take educational tour to a local museum, they develop

(1) Anxiety

(2) Interest

(3) Cauriosity
(4) Enjoyment

Ife Freres el e SR W =Y GUEeE H 9 € |91 39F werawy 39 = fasfag et ?
(1) gfewa

(2) eAfwsfg
(3) ScgHT
(4) ST
Options:-

.1, Option ID :- 265,
. 2, Option ID :- 266,
. 3, Option ID :- 267,

. 4, Option ID :- 268,
Answer Given:- 3, Option ID : -267

Question ID:- 68
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How you would provide meaningful learning space in school ?
(1) Well qualified teachers with warmth to support children
(2) Well equipped classrooms with teaching aids

(3) Comfortable furniture
(4)

4 Air condition rooms

o1y faemers § medw s T 8 geE w2
(1) @Rl 1 HEEA A ATl AT TEAT=0 AT

(2) gufosa Ham F& I s Tt
(3) SARTHGE FrAl=
(4) SIS e

Options:-

.1, Option ID :- 269,
. 2, Option ID :- 270,
. 3, Option ID :- 271,

. 4, Option ID :- 272,
Answer Given:- 1, Option ID : -269

Question ID:- 69

To arouse scientific temper among the children what should the teacher do in classroom ?
(1) Group discussion

(2) Conducting experiment in class

(3) Lecture method

(4) Reading the text

ekl H A gfteahiv o wguia %39 & fau s1emaes i shen § 2 e 9ifey ?

(1) =gz ¥ faud

(2) hET H YHA AT

(3) = fafy

(4) TATES el
Options:-

.1, Option ID :- 273,
. 2, Option ID :- 274,
. 3, Option ID :- 275,

. 4, Option ID :- 276,
Answer Given:- 2, Option ID : -274

Question ID:- 70
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Why text books are required for learning ?
(1) Students are comfortable with text book knowledge

(2) Since prescribed by the authority
(3) Gives directions to the exam
(4) It would guide the teacher to confine to the syllabus

HRTH % oy IRATa] i STEvashal #ii gedl § 7

(1) foenfefmo weagss § Sucred SH I gy T80 i ¢ |
(2) =it mite gra fafea fave < €

(3) =EH dten Gent fdwr Sues g ¥

(4) SHY FEAUF I UHHY de Hifvd @ & fae Arfeds ura 2

Options:-

.1, Option ID :- 277,
. 2, Option ID :- 278,
. 3, Option ID :- 279,

. 4, Option ID :- 280,
Answer Given:- 4, Option ID : -280

Question ID:- 71

According to educationists the curriculum should be
(1) Management oriented

(2) Parent oriented

(3) Teacher oriented

(4) Goal oriented

Options:-

.1, Option ID :- 281,
. 2, Option ID :- 282,
. 3, Option ID :- 283,

. 4, Option ID :- 284,
Answer Given:- 4, Option ID : -284

Question ID:- 72
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When child is admitted in Primary School, which learning theory is attributable for his/her
learning :
(1) Law of effect

(2) Law of trial and error
(3) Law of readiness
(4) Stimulus-response theory

e fereft arere =1 s foramera ® Ariea gfan € @ S9eh siferm & foag Fifera # 3 &9 & sty
fagfa g & 2
(1) 99 =1 529
(2) SEH AR e
(3) gt =1
(4) EMA-sEfRA fagid
Options:-
.1, Option ID :- 285,
. 2, Option ID :- 286,
. 3, Option ID :- 287,

. 4, Option ID :- 288,
Answer Given:- 4, Option ID : -288

Question ID:- 73

The constructive method of teaching and learning would empower

(1) Teacher

(2) The child
(3) Principal
(4) Librarian

S 2R frm = = fafa § f=ifea 8 9 g gadiieo g &2

(1) AR
(2) @Ter
(3) ™
(4) ©EHEREA
Options:-

.1, Option ID :- 289,
. 2, Option ID :- 290,
. 3, Option ID :- 291,

. 4, Option ID :- 292,
Answer Given:- 2, Option ID : -290

Question ID:- 74
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What is the main disadvantage of ICT application in classroom ?
(1) Thinking skills are hampered

(2) Straining of eyes
(3) ICT tools are costly
(4) Always depends on technology

FH T TR W A Sy | EHarel g@ g # 8
(1) T S sifeg g 3

(2) SAE R o gEa e

(3) 31 Tt 3T SUHTO HEN B B |

(4) SHH gog UrENfen! T R @ vea g
Options:-

.1, Option ID :- 293,
. 2, Option ID :- 294,
. 3, Option ID :- 295,

. 4, Option ID :- 296,
Answer Given:- 3, Option ID : -295

Question ID:- 75

For improvement of the performance of the teachers they should resort to :
(1) pursuing higher qualification.

(2) attending seminars.
(3) taking feed back from the children.
(4) thorough reading before coming to the class.

HEATIH] o TR H guR & fau 3% f=ifed | 9 formem sngg & =nfeu. ?
(1) 3= Al YT Al

(2) HHARI H WA e

(3) TRl ¥ Thigs® T Ll

(4) el H 3 H Tel SATYH AT

Options:-

.1, Option ID :- 297,

. 2, Option ID :- 298,

. 3, Option ID :- 299,

. 4, Option ID :- 300,
Answer Given:- 3, Option ID : -299

Subject : CCLE_Q66-Q80_KPTGTSCI

Question ID:- 76
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Persons with Disabilities Act 1995 came into force with effect from :
(1) January 1996

(2) February 1995

(3) March 1996

(4) April 1995

Tyt =afert sifufam, (fesam =afea sfufram) 1995 e o] gai?

(1) S, 1996
(2) wEERl, 1995
(3) =, 1996
(4) oTde, 1995
Options:-

.1, Option ID :- 301,
. 2, Option ID :- 302,
. 3, Option ID :- 303,

. 4, Option ID :- 304,
Answer Given:- 1, Option ID : -301

Question ID:- 77

When the child is found in the classroom with impaired handwriting the reason could be :

(1) Autism

(2) Apraxia

(3) Dyslexia

(4) Dysgraphia

S g ATk el § S forars s g urEn S € i %R 91 HR0T 8 9kl € 2

(1) &ifesw

(2)  sAuiferman

(3) Tewafern

(4) Temufran
Options:-

.1, Option ID :- 305,
. 2, Option ID :- 306,
. 3, Option ID :- 307,

. 4, Option ID :- 308,
Answer Given:- 4, Option ID : -308

Question ID:- 78
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Which is the most common mental impairment among the children ?

(1) Depression

(2) ADHD

(3) Maladjustment
(4) Anxiety

Herehi 1 2aR W feifera ° 9 o 9t faser e s g 2

(1) 3FaHR
(2) TELTHE
(3)  Z:EHESH
(4) i@
Options:-

.1, Option ID :- 309,
. 2, Option ID :- 310,
. 3, Option ID :- 311,

. 4, Option ID :- 312,
Answer Given:- 2, Option ID : -310

Question ID:- 79

Name the program recently launched by Ministry of Education to help the students suffering from
mental illness :

(1) School Health Program

(2) Manodarpan
(3) Health for all Program
(4) AEP

uHfeE o § 7 et ot g F fou we & e g g feifes § 9 we-w srdsy
I fore 22

(1) Tha @A FEHT

(2) HAEYT
(3) |l = foru w=men Frdwe
(4) TIHEL

Options:-

.1, Option ID :- 313,
. 2, Option ID :- 314,
. 3, Option ID :- 315,

. 4, Option ID :- 316,
Answer Given:- 4, Option ID : -316

Question ID:- 80
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What is the major challenge in school to address mental health issue among children ?
(1) Lack of Professional Experts

(2) Lack of funds
(3) Lack of awareness
(4) Lack of time

ekl o AMfE @ gadt gaen  fare § g€ g o 2

(1) =AEETa fados a1 9@
(2) el &1 s
(3) SIFTEH  HHTE
(4) HEAIIE
Options:-

.1, Option ID :- 317,
. 2, Option ID :- 318,
. 3, Option ID :- 319,

. 4, Option ID :- 320,
Answer Given:- 3, Option ID : -319

Question ID:- 81

Visiting local bank by the students would amount to
(1) Parent student relationship

(2) Teacher student relationship
(3) Home community relationship
(4) Student public relationship

fernfelii =1 vt de SR friferna § § forean aftams € 2
(1) sfyarEs faznedf day
ek fammedl Hay

Options:-

.1, Option ID :- 321,
. 2, Option ID :- 322,
. 3, Option ID :- 323,

. 4, Option ID :- 324,
Answer Given:- 4, Option ID : -324

Question ID:- 82
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What is the best kind of leadership in school education ?
(1) Autocratic relationship
(2) Democratic relationship
(3) Servant leadership
(4)

4) Transformation leadership

el e H HalaH Tged 7§ 7
(1) E=TER g

(2) EArRdIHE A

(3) e g

(4) YREdTHER A9
Options:-

.1, Option ID :- 325,
. 2, Option ID :- 326,
. 3, Option ID :- 327,

. 4, Option ID :- 328,
Answer Given:- 2, Option ID : -326

Question ID:- 83

What should be the main objective of ‘Institutional planning’ ?
(1) Optimum utilization of living and nonliving resources
(2) Academic excellence

(3) Procurement of new assets

(4) To get social recognition

‘renfaes SRS 1 g WIS 1 a1 =fe 2
(1) Tsita iR freffa derE =1 gean sTam
(2) Vafors I

(3) T emfial i wdig

(4) QIS |Gl 9T AT

Options:-

.1, Option ID :- 329,
. 2, Option ID :- 330,
. 3, Option ID :- 331,

. 4, Option ID :- 332,
Answer Given:- 1, Option ID : -329

Question ID:- 84
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What is the significance of morning assembly ?
(1) To conduct cultural activities

(2) To promote discipline among the children
(3) To communicate the information
(4) Itis part of time table
TSI ST 1 I Heed § 2
(1) HiEpfaes FEFEE F AR
(2) @eTehl H SIS S SEEl ol
(3) Y= HYT
(4) IIE WY HION K S
Options:-

.1, Option ID :- 333,
. 2, Option ID :- 334,
. 3, Option ID :- 335,

. 4, Option ID :- 336,
Answer Given:- 2, Option ID : -334

Question ID:- 85

Why schools should be assessed ?

(1) To get social recognition

(2) To get funds from donors

(3) To know the strong and weak areas of the school
(4)  Self publicity

foremeri =1 Jeaiea i Tz s =nfeu ?
(1) HTHISR A=a1 9 3 2

(2) st O faferl e g

(3) e % Yool SR ol Y&l S 2q
(4) ST Y= HH

Options:-

.1, Option ID :- 337,
. 2, Option ID :- 338,
. 3, Option ID :- 339,

. 4, Option ID :- 340,
Answer Given:- 3, Option ID : -339

Question ID:- 86
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What the school should do to improve teachers performance ?
(1) Incentive to teachers

(2) Better service conditions
(3) By giving less work load
(4) Deputing all teachers to inservice course on regular basis

HeAIH] F FEAEET § GUR @9 F AU S F1 F w1 =fen ?
(1)  S%ATIERI 1 YresTe T

(2)

(3) THHEYR HH HE

(4) 9T A=A I A 9 9 Fa1 Hicti= w6 & fog gfatgeaa s
Options:-

.1, Option ID :- 341,

. 2, Option ID :- 342,

. 3, Option ID :- 343,

. 4, Option ID :- 344,
Answer Given:- 4, Option ID : -344

Question ID:- 87

The pairing of two neighboring schools would help
(1) sharing the resources for better learning

(2) in reducing the burden of admission
(3) in exchanging the teachers
(4) conducting common sport activities

e & fammerl & oA 9 freifea ° 9 frad gemm faert ?
(1) =& sifenm % fau SawET =1 ER

(2) FATHI%A % S H FH HE H

(3) SEATYeRI & HH WM H

(4) T FRAHH I HEH HA H

Options:-

.1, Option ID :- 345,
. 2, Option ID :- 346,
. 3, Option ID :- 347,

. 4, Option ID :- 348,
Answer Given:- 1, Option ID : -345

Question ID:- 88
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NCEF, 2005 focuses on
(1) to recruit qualified teachers

(2) learning without burden
(3) to improve ambience of the school
(4) to promote sports education

T e wuE, 2005 freifea § ¥ f w g fem mn #2
(1) =rg foeeni =1 frgfe =0 ™

(2) @ Ued Aferm 9T

(3) forre™ =1 AR URA W

(4) shIeI-ToE YgH & W

Options:-

.1, Option ID :- 349,
« 2, Option ID :- 350,
. 3, Option ID :- 351,

. 4, Option ID :- 352,
Answer Given:- 2, Option ID : -350

Question ID:- 89

According to RTE Act, 2009 what should be the age of the children ?

(1) 1-8 years
(2) 0-6 years
(3) 6-14 years
(4) 0-18 years

e =1 aafusrr s1fufem, 2000 % ST9R o= &1 o foaet &1 =nfea 2

(1) 1-8@4
(2) 0-63Y
(3) 6-14 =
(4) 0-18 3d
Options:-

.1, Option ID :- 353,
. 2, Option ID :- 354,
. 3, Option ID :- 355,

. 4, Option ID :- 356,
Answer Given:- 3, Option ID : -355

Question ID:- 90
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According to NEP 2020, what is the minimum age of child to get admission in formal school ?

(1) 4 years
(2) 5 years
(3) 6 years
(4) 3 years

Tty fren ifa, 2020 % sER, s w9 9 foemey ° gaw & fau =aa g @ ?

(1) 49
(2) 534
(3) 6a¥
(4) 399
Options:-

.1, Option ID :- 357,
. 2, Option ID :- 358,
. 3, Option ID :- 359,

. 4, Option ID :- 360,
Answer Given:- 3, Option ID : -359

Subject : SCI_Q81-Q180_KPTGTSCI

Question ID:- 91

Which physical property would be most useful for determining whether two samples of metal are
the same or not ?

(1) Mass
(2) Volume
(3) Colour
(4) Density

oTq % B T4 Ueh & U1g 6 § 41 76l ¥ fFuif| W & faw e an sdifaes 1o g6 seEnt g2

(1) ===9HH

(2) AT

(3)

(4) =T
Options:-

.1, Option ID :- 361,
« 2, Option ID :- 362,
. 3, Option ID :- 363,

. 4, Option ID :- 364,
Answer Given:- 1, Option ID : -361

Question ID:- 92
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At room temperature and 1 atm pressure, the molecules are farthest apart in :
(1) Chlorine

(2) Bromine
(3) Iodine
(4) Water

AL % 9HE 3R 1 atm &6 R fRges 30 9 H ¢ Ed § 2

(1) @
(2) EHE
(3) IErEH
(4) S
Options:-

.1, Option ID :- 365,
. 2, Option ID :- 366,
. 3, Option ID :- 367,

. 4, Option ID :- 368,
Answer Given:- 3, Option ID : -367

Question ID:- 93

The melting and boiling points (in °C) of some elements are given in the table below :

Element Mercury Phosphorus  Radon Gallium
Melting point -39 44 -71 30
Boiling point 357 280 —-62 2400
How many of these elements are solids at 25°C and 1 atm pressure ?
() 0

(2 1

(3) 2

4 3
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F dedl  Teis SR FYHIE (°C ) Fi= &1 T difer ¥ fau e ¥

qd 151} TR I = Hifera
RGEIESD —39 44 —71 30
FYTH 357 280 —62 2400

=70 ¥ T 9 25 feult Afceag iRl atm &@ W SE Bd & 2

() 0
2) 1
3) 2
(4) 3
Options:-

.1, Option ID :- 369,
. 2, Option ID :- 370,
. 3, Option ID :- 371,

. 4, Option ID :- 372,
Answer Given:- 2, Option ID : -370

Question ID:- 94

During the process of boiling of pure water in a beaker, the bubbles that initially rise to the surface
are composed primarily of :

(1) Air

(2) Hydrogen

(3) Hydrogen and Oxygen
(4) Water Vapour

I[G e I AR § S Ui § I H U &) oI 3 a1 geeel geEd: e o € € 2
(1) =7

(2) TEENH
(3) BEErSH iR e
(4) STAar™q

Options:-

.1, Option ID :- 373,
. 2, Option ID :- 374,
« 3, Option ID :- 375,

. 4, Option ID :- 376,
Answer Given:- 3, Option ID : -375

Question ID:- 95
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Which one of the following is an exothermic process ?

(1) Ice melting

(2) Boiling soup

(3) Ammonium theocyanate and Barium hydroxide are mixed at 25°C, the temperature drops
(4)

4) Condensation of water vapour

frefafog § @ =9 @ Sad g5 § 2

(1) =% =1 frsen

(2) Seld g g

(3) STHIMEY AEmEEe iR JfEH SEglwEs & e W aaHE &1 iR s
(4) STAAT HT HEAA

2

Options:-

.1, Option ID :- 377,
. 2, Option ID :- 378,
. 3, Option ID :- 379,

. 4, Option ID :- 380,
Answer Given:- 4, Option ID : -380

Question ID:- 96

What statement describes a chemical property ?
(1) Its crystals are a metallic grey.

(2) It dissolves in alcohol.

(3) It forms a violet coloured gas.

(4)

[t reacts with hydrogen to form a gas.

FF T FHH TFEAE 70T H I FI 2
(1) 5% frea afes Fm 2n 2

(2) ¥ Ul H Hel Sl § |

(3) =@ ST G 5 g 9w

(4) @ TESNH ¥ st o= 19 s 2
Options:-

.1, Option ID :- 381,
. 2, Option ID :- 382,
. 3, Option ID :- 383,

. 4, Option ID :- 384,
Answer Given:- 4, Option ID : -384

Question ID:- 97
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What is the total number of atoms (atomicity) represented in a compound having formula
MgSO,-7 H,0 ?

1) 6
2 8

3) 21
(4) 27

MgSO,7 H,O §3 gRI &3 71 A1tk § WHIv] sl Fel HeA1 (THrehdl) ferei & 2

() 6
(2) 8
(3) 21
(4) 27
Options:-

.1, Option ID :- 385,
. 2, Option ID :- 386,
. 3, Option ID :- 387,

. 4, Option ID :- 388,
Answer Given:- 4, Option ID : -388

Question ID:- 98

A bus is accelerating uniformly as it passes two checkpoints that are 60 m apart. The time taken
between the checkpoint is 6 s and the speed of the bus at the second checkpoint is 16 ms~1. The
speed of the bus at the first checkpoint is :

(1) 4ms—!
(2) 8ms!
(3) 12 ms!
(4) 16 ms~!

60 m gt R e 2 Sira HfeRdl & 7T FE 9 THEEE @01 9 G R @ ) SH S Al 6 7
AR 6 5 & TH THA SiT9 Aokl T o9 I A6 16 ms ™~ L8 | Taell S i =il W o9 1 =t 01 & 2

(1) 4ms-?
(2) 8ms~!
(3) 12ms!
(4) 16 ms~!
Options:-

.1, Option ID :- 389,
. 2, Option ID :- 390,
. 3, Option ID :- 391,

. 4, Option ID :- 392,
Answer Given:- 3, Option ID : -391

Question ID:- 99
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An elevator is moving downward in the shaft at 4 m/s when a nut from the bottom of the elevator
comes out and strikes the bottom of the shaft in 1 s. The height of elevator from the bottom of the
shaft when the nut just fell off is : (Take acceleration due to gravity as 10 m/s?)

(1) 1Im
(2) 4m
(3) 9m
(4) 14 m

R H 4 m/s i =6 T = a1 AR o fordt fawe &1 Fraet 9ag 9 uF T2 Mo Sar @ S IR St
del T 1 s | 2l & | 7€ % ae feha s fTRd 99 fawe &t 319 =i delt § S=m o ot ?

(R @L=10 m/s2)

(1) 1m
(2) 4m
(3) 9m
(4) 14m

Options:-

.1, Option ID :- 393,
. 2, Option ID :- 394,
. 3, Option ID :- 395,

. 4, Option ID :- 396,
Answer Given:- 2, Option ID : -394

Question ID:- 100

A ball after falling from rest under the influence of gravity for 4 s falls on a horizontal glass plate.
Because of collision, the ball looses three fourth of its velocity. If the ball reaches the ground 2 s
after the collision, the height of the glass plate above the ground will be : (Take g=10 ms 2

(1) 60 m
(2) 40m
(3) 30m
(4) 20m

Tocd o 9uTE H faum § et g3 1S 718 4 s & qvand Rt id &l wie | Tl § 1 39 HEg & SR g
71 H i g A S ¥ 1 afg g Heg % 2 s e i W uged €, d Y | #i 6t wie S 3uE
FNE? (g=10ms2)

(1) 60 m
(2) 40 m
(3) 30m
(4) 20m

Options:-

.1, Option ID :- 397,
. 2, Option ID :- 398,
. 3, Option ID :- 399,
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. 4, Option ID :- 400,
Answer Given:- 4, Option ID : -400

Question ID:- 101

The softness of a sound wave is determined by its :
(1) Speed

(2) Amplitude

(3) Frequency

(4)  Wavelength

ol sy i oY g P T iR 2t &7

(1) =
(2) ™M
(3 omfa
(4) e
Options:-

.1, Option ID :- 401,
. 2, Option ID :- 402,
. 3, Option ID :- 403,

. 4, Option ID :- 404,
Answer Given:- 2, Option ID : -402

Question ID:- 102

Which one of the following is a fundamental conservation law ?
(1) Conservation of energy

(2) Conservation of momentum

(3) Conservation of mass
(4)

4 Conservation of mechanical energy

frefafead § 9 %R o1t goa g fam g2

(1) sl HeE

(2)  He HE

(3) SoHHM Hi&

(4)  Hif>FR et HL&
Options:-

.1, Option ID :- 405,
. 2, Option ID :- 406,
. 3, Option ID :- 407,

. 4, Option ID :- 408,
Answer Given:- 3, Option ID : -407
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Question ID:- 103

A 4 kg object is moving at a speed of 5 m/s. The constant force needed to stop the object in
5x10~4s will be :

(1)  +4x10%* N in the direction of motion.

(2) +20 N in the direction of motion.

(3) +100 N in the opposite direction of motion.
(4) +4x10*N in the opposite direction of motion.

4 kg BIH 1 T 42 5 m/s &1 =@ | 7fd L @18 139 fig 1 5% 104 s F I & foru smeaeas frad
& %1 | 1 8 ?
(1) "fd e d +4x10T4N
(2) wifd s feend +20 N
(3) ifa =T faoda feen 3 100 N
(4) ifd =it fawdia fem § +4x 104N
Options:-
.1, Option ID :- 409,
. 2, Option ID :- 410,
. 3, Option ID :- 411,

. 4, Option ID :- 412,
Answer Given:- 4, Option ID : -412

Question ID:- 104

All the following masses are possible for an individual Carbon atom except one. The impossible
one is :

(1) 12.00000 u

(2) 12.01115 u
(3) 13.00335 u
(4) 14.00324 u

et epel (fter) e W] & fon uw 1 S fefafaa ot gomm due €1 e gemm
HHAE?

(1) 12.00000 u

(2) 1201115 u

(3) 13.00335 u

(4) 14.00324 u

Options:-

.1, Option ID :- 413,
. 2, Option ID :- 414,
. 3, Option ID :- 415,

. 4, Option ID :- 416,
Answer Given:- 3, Option ID : -415
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Question ID:- 105

On heating, Cl1,0O» decomposes to form Cl, and O,. What s the ratio of Chlorine to Oxygen molecules
in the product ?

1) 2:7
2) 2:14
(3) 3:7
4 7:2

TH FH | CL,O., ST7afer B Cl, 3R O, 57 | 3718 § AR % 21jeil iR sffedfts & arvjedi & o=
ST FANE?

() 2:7
(2) 2:14
(3) 3:7
4 7:2

Options:-

.1, Option ID :- 417,
. 2, Option ID :- 418,
. 3, Option ID :- 419,

. 4, Option ID :- 420,
Answer Given:- 1, Option ID : -417

Question ID:- 106

The scattering of a-particles by thin metal foils establishes that :
(I) The mass and positive charge of an atom are concentrated in a nucleus.
Electrons are fundamental particles of all matter.

(2)
(3) All electrons have the same charge.
(4)

Atoms are electrica]ly neutral.

HTq 1 gae! 911 GRT o301 1 Weh!UH I8 TI1a o ¢ f
(1) Torelt TR 1 ST SR S ST IH e § higd g €

(2) zoERH Tt et % gem wu e
(3) Wft sTIERTT W STEY M B ©
(4) e far seEa 2 €
Options:-

.1, Option ID :- 421,
. 2, Option ID :- 422,
. 3, Option ID :- 423,

. 4, Option ID :- 424,
Answer Given:- 1, Option ID : -421

Question ID:- 107
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Which one of the following graphs cannot be a correct displacement(s) - time(t) variation for the
motion of a particle ?

5

T
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t —
]
t /_/
(2)
O
t—
s
T
(3)
O
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s
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(4)
O
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S
T
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T
(3)
O
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]
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Options:-

.1, Option ID :- 425,
. 2, Option ID :- 426,
. 3, Option ID :- 427,

. 4, Option ID :- 428,
Answer Given:- 4, Option ID : -428

Question ID:- 108

The workdone needed to move a body of 2.0 kg from an elevation of 1 m to an elevation of 10 m,
against the gravitational field of the earth is : (take g=10 m/s?)

(1) 20]

(2) 180]
(3) 200]
(4) 220]

Yeat % e 97 F U 2.0 kg F TF TG F 1 m FE T 10 m F=E 96 A SH F TG w2
BFM? (g=10 m/s> )

(1) 20]
(2) 180]
(3) 200]
(4) 2207
Options:-

.1, Option ID :- 429,
. 2, Option ID :- 430,
. 3, Option ID :- 431,

. 4, Option ID :- 432,
Answer Given:- 2, Option ID : -430

Question ID:- 109

A bullet having a speed of 160 m/s passes through a plank of wood. After passing through the
plank, its speed is 140 m/s. Another bullet, of the same mass and size but travelling at 60 m/s, is
fired at the plank. Assuming that the resistance of the plank is independent of the speed of the
bullet, the second bullet’s speed after tunneling through will be nearly equal to :

(1) 24 m/s
(2) 40m/s
(3) 49 m/s
(4) 60m/s
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160 m/s 3l =& F A T el fhdt Teel & & 9 S el § | T | TSR o T el Sl 9w
140 m/s B ST € | THF S99 Gl SR 1 Th 31 el St 60 m/s i =i F Ta9H €, 9 9 el
ST € | 7% 9 U o e o1 wfadie et ot e ur feR e o, @ ae o e 3 e gEd el bt
1A I fsheaq 9

(1) 24 m/s
(2) 40m/s
(3) 49m/s
(4) 60m/s
Options:-

.1, Option ID :- 433,
. 2, Option ID :- 434,
. 3, Option ID :- 435,

. 4, Option ID :- 436,
Answer Given:- 3, Option ID : -435

Question ID:- 110

A boy throws a 0.2 kg stone from the top of a 15 m cliff with a speed of 20 m/s in downwards
direction. The kinetic energy of the stone when it lands in a river below will be :

(Take g=10 m/s?)
(1) 0

(2) 30]

(3) 40]

(4 70]

e TAGH U 0.2 kg F UH UeeR 1 15 m 3+ 92 F 20 m/s A et F A Fi SR e €1 =
eI 9 fiTd FHE weerk i i el #1 g1 2 (g =10 m/s2 S )

(1) 0
(2) 30]
(3) 40]
(4 70]

Options:-

.1, Option ID :- 437,
. 2, Option ID :- 438,
. 3, Option ID :- 439,

. 4, Option ID :- 440,
Answer Given:- 1, Option ID : -437

Question ID:- 111



https://aview.in/
https://aview.in/category/previous-papers/

A 0.5 kg ball falls pas a window, whose top is 1.8 m in vertical extent from the ground. If the speed
of the ball at the top of the window is 8 m/s, its speed at the ground will be :

(Take g=10 m/s?)
(1) 10m/s

(2) 8m/s

(3 6m/s

(4) 5m/s

0.5 kg &1 T e ot faest fowm wod fou 41 9 1.8 m =1 8, & S et ©1 faesht & sad fax
TR Afg 7g I e 8 m/s & T ITHI YA WHAE : (g=10 m/s2FHfC )

(1) 10m/s
(2) 8m/s
(3) 6m/s
(4) 5m/s
Options:-

.1, Option ID :- 441,
« 2, Option ID :- 442,
. 3, Option ID :- 443,

. 4, Option ID :- 444,
Answer Given:- 4, Option ID : -444

Question ID:- 112

. . 119
How many protons, neutrons and electrons are there in the Ten ion 505n2+ ?

(1) 119 protons, 50 neutrons, 119 electrons.
(2) 50 protons, 69 neutrons, 50 electrons.
(3) 50 protons, 69 neutrons, 48 electrons.
(4) 69 protons, 50 neutrons, 67 electrons.

ot s 'L Snt i fore W, g2 8l gem E 7

(1) 119 WM, 50 =M, 119 TeraH

(2) 50 WM, 69 =42, 50 TR

(3) 50 WM, 69 21, 48 S

(4) 69 HIEH, 50 =2, 67 SR
Options:-

.1, Option ID :- 445,
. 2, Option ID :- 446,
. 3, Option ID :- 447,

. 4, Option ID :- 448,
Answer Given:- 3, Option ID : -447
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Question ID:- 113

Atom T has 3 valence electrons and atom S has 6 valence electrons. The formula expected for an
ionic compound of T and S is :

(1) TS5
(2) T35,
3) TS,
(4) TS

T T H 3 HArSERal Seiaei & iR T S H 6 Harerhal o[ 21 T 3RS & st ifme % fag

(D) To55
@ T8,
(3) TS,
4) TS5
Options:-

.1, Option ID :- 449,
. 2, Option ID :- 450,
. 3, Option ID :- 451,

. 4, Option ID :- 452,
Answer Given:- 1, Option ID : -449

Question ID:- 114

Which one of the following physical quantity is not a constant ?
(1) Mass of an elementary particle

(2) Weight of an object

(3) Permitivity of vacuum
(4)

4) Speed of light in free space

Frefafea Yifas ofesl § 9 9 9 v feris =@ g2

(2) Torslt fig &1 4R

(3) frafd =t fergasiiemdn/ quesais

(4) T TR H YR HI e
Options:-

.1, Option ID :- 453,
. 2, Option ID :- 454,
. 3, Option ID :- 455,

. 4, Option ID :- 456,
Answer Given:- 2, Option ID : -454

Question ID:- 115
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A boy having a mass of 60 kg holds in his hands a bag weighing 30 N. The force with which the
floor push upon his feet will be: (Take g=10 m/s?)

(1) 90N
(2) 360 N
(3) 630N
(4) 900 N

60 kg ZEAHM 1 T TS 797 Feli H 30 N R &1 T JeT Uohs § | 1 511 30 T W W & IR &
ATl o B : (g=10 m/s> ST )

(1) 90N
(2) 360 N
(3 630 N
(4) 900 N
Options:-

.1, Option ID :- 457,
. 2, Option ID :- 458,
. 3, Option ID :- 459,

. 4, Option ID :- 460,
Answer Given:- 2, Option ID : -458

Question ID:- 116

An 120 kg metal cylinder 2.5 m long and with each end of area 40 cm? stands vertically on one
end. The pressure exerted by the cylinder on the floor will be : (Take g=10 ms~2)

(1) 480 N/m?2

(2) 7.5x10% N/m?
(3) 12x10* N/m?
(4) 3x10° N/m?

120 kg ESHH &1 T 2.5 m & Hifcass fafavey fome ueis fa 40 cm? &% &1 €, TF R & a1y
Feaied: wel ¢ fafaust g v W iifad g6 2 ¢ (g =10 ms 2 i)

(1) 480 N/m?

(2) 7.5x10% N/m?2

(3) 12x10* N/m?

(4) 3x10° N/m?

Options:-

.1, Option ID :- 461,
. 2, Option ID :- 462,
. 3, Option ID :- 463,

. 4, Option ID :- 464,
Answer Given:- 4, Option ID : -464

Question ID:- 117
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A hydraulic lift in a service station has a large piston 30 cm in diameter and a small piston 3 cm in
diameter. The force required on the small piston to lift a load of 2000 kg will be : (g=10 m/s?)

(1) 200 N
(2) 400 N
(3) 600 N
(4) 2000 N

fordl wfem wyr H we ga=ifad faw § 30 con S99 %1 T 981 A 991 3 cm =919 1 T Bi21 f2d &@m
212000 kg & R %l 33M * foiu B fed W fofa 5@ =il savashdl 270 2 (g=10 m/s?)

(1) 200 N

(2) 400 N

(3) 600 N

(4) 2000 N
Options:-

.1, Option ID :- 465,
. 2, Option ID :- 466,
. 3, Option ID :- 467,

. 4, Option ID :- 468,
Answer Given:- 2, Option ID : -466

Question ID:- 118

A metal ball weighs 0.096 N. When suspended in water it has an apparent weight of 0.064 N. The
density of the metal will be : (density of water =103 kg/m?)

(1) 0.67x10% kg/m>
(2) 15x10® kg/m3
(3) 3x10° kg/m?
(4) 6x10° kg/m?

foreht enfeees i o1 R 0,096 N €1 5l H Te&M W THH IR 9K 0.064 N T 91g 1 =9 ¢ :
(S =1 ¥ = 10° kg/m?)

(1) 0.67x10% kg/m?

(2) 1.5x10% kg/m3

(3) 3x10° kg/m?

(4) 6x10% kg/m?

Options:-

.1, Option ID :- 469,
. 2, Option ID :- 470,
. 3, Option ID :- 471,

. 4, Option ID :- 472,
Answer Given:- 3, Option ID : -471

Question ID:- 119
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There are two stable isotopes of Carbon. They differ with respect to :
(1) Atomic mass

(2) Number of protons
(3) Atomic number
(4) Electron configuration

e F < Tl wHenfae 8 € 1 3 e H frw dey d fim 82

(1) T EFHH
(2) WRH w HEA
(3) OTHI] HeA
(4) seiE o=

Options:-

.1, Option ID :- 473,
. 2, Option ID :- 474,
. 3, Option ID :- 475,

. 4, Option ID :- 476,
Answer Given:- 1, Option ID : -473

Question ID:- 120

A mixture containing 15 g of Carbon and 25 g of Oxygen is sealed in a flask. The total mass of the
system is 140 g. The flask is then heated to react the Carbon and Oxygen. What will be the mass of
the sealed flask after heating ?

(1) 40g

(2) 100 g

(3) 140 g

(4) Itis impossible to predict

15 T e AR 25 TH SHaTsH arel g0 S U wares § dides sg o fom s 2 139 e 1 5a
TS 140 T &, SHeh o€ Feiieh i TH fohan ST & a8 sreq ofit sitedisq stfufsrar o €1 7 s
& g HieTae YT o1 goq9H aiT ?

(1) 40 7™

(2) 100 9T

(3) 140 U™

(4) iferemEmi &R g eTEHYE ®
Options:-

.1, Option ID :- 477,
. 2, Option ID :- 478,
. 3, Option ID :- 479,

. 4, Option ID :- 480,
Answer Given:- 3, Option ID : -479
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Question ID:- 121

If the Hydrocarbon C,H, is burned in Oxygen gas, Carbon dioxide and water are formed, as
described by the unbalanced chemical equation

CHy + O, -» CO,+H,0O
When the equation is balanced properly, we predict that one mole of C,H, will :
(1) react with one mole of O,

(2) form two moles of CO,
(3) form three moles of water
(4) react with four moles of O,

e TSR C,H,, i SHTRie T & e S 2, 0 el SR-sfiamss R <o ol & o srsgfer
e FHRO BRI = S0 T €

C,H, + 0, - CO,+H,0

IR0 o Eferd fohy SH W, o &9 F8 STIHH oFTid € foh C,H, =l U et

(1) O, T HIA & W Al & T

(2) CO,% 3 o s B |

(3) i Hie Sl S § |

(4) O, % =R e 3 | Aaferan a2 |
Options:-

.1, Option ID :- 481,
. 2, Option ID :- 482,
. 3, Option ID :- 483,

. 4, Option ID :- 484,
Answer Given:- 2, Option ID : -482

Question ID:- 122

The minimum volume of a block of wood (density =800 kg/m?3), if it is to hold a 50 kg person
entirely above the water when he stands on it will be : (density of water 1000 kg/m?)

(1) 0.25m3

(2 08md
(3) 1.18 m®
(4) 1.25m?

forell TRl % =eiieh (I = 800 kg/ m?>) Tl =IFqH STATH 1 BT, IfS 2o o HU e 50 kg EoAHM
s A Sl o IS & HUL YU &Y ¥ T Goh ? (S I =¥ = 1000 kg/m?)

(1) 0.25m?
(2) 08m’

(3) 1.18m?
4) 1.25m?

Options:-
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.1, Option ID :- 485,
. 2, Option ID :- 486,
. 3, Option ID :- 487,

. 4, Option ID :- 488,
Answer Given:- 1, Option ID : -485

Question ID:- 123

Which one of the following expressions correctly gives the Ohm'’s law for a conductor ? (Symbols
have their usual meanings)

!
(1) R
@ V-1
I
(3) V=I2R
(4) V=IR

ot et & fau oim & fam =it fefafay =iel 8 9§ forg T & g1 9ei < 1 9ear € 2 (Ui &
gy 219 7))

I
V=—
(1) =
R
(2) N==
I
(3) V=R
(4) V=IR
Options:-

.1, Option ID :- 489,
. 2, Option ID :- 490,
. 3, Option ID :- 491,

. 4, Option ID :- 492,
Answer Given:- 4, Option ID : -492

Question ID:- 124

The potential difference required to pass 4A current through a 24 ) resistor will be :

(1) 96V
(2) 48V
3) 6V
4 15V
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24 O F Trdt ufales & 4 A uR1 yarfed s & foe s favais ©

(1) 96V
(2) 48V
3) 6V
(4 15V

Options:-

.1, Option ID :- 493,
. 2, Option ID :- 494,
. 3, Option ID :- 495,

. 4, Option ID :- 496,
Answer Given:- 1, Option ID : -493

Question ID:- 125

A current of 2.0 A flows down a straight metal rod that has a 0.20 cm diameter. The rod is 2.0 m
long, and the potential difference between its ends is 40 V. The resistivity of the material of the rod
will be :

(1) 1256 pQ m

(2) 628 pOm
(3) 314 pOm
(4) 157 pQm

0.20 e =TE T fordlt el enfeass @8 | 2.0 A 90 yaifed &1 Wi €1 9 &I @OE 2.0 m & 7401 360 9 &
Tex fosraiar 40 V&1 98 % ugrd =i wfadieerd 520 %2
(1) 125.6 pOm

(2) 628 pOm
(3) 314 pOm
(4) 157 pOm

Options:-

.1, Option ID :- 497,
. 2, Option ID :- 498,
. 3, Option ID :- 499,

. 4, Option ID :- 500,
Answer Given:- 3, Option ID : -499

Question ID:- 126

A 90 cm long copper tube has an inner diameter of 0.8 cm and an outer diameter of 1.0 cm. The
electric resistance of the tube when used lengthwise will be :

Take resistivity of copper 1.57 x 1078 O m)

(

(1)  109.7 pOQ
(2) 180 pQ
(3) 2813 pO
(4) 500 pQ
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ot 90 om Tl Tisl =T el T ATARer A9 0.8 cm T &89 S99 1.0 cm § | FaE & SFEW TN & W
3GeHT S Yickier @ B 2 (dis R IRaieshdl =1.57 x 1078 QO m ©)
(1) 109.7 pQ

(2) 180 pQ
(3) 2813 pQ
(4) 500 pO

Options:-

.1, Option ID :- 501,
. 2, Option ID :- 502,
. 3, Option ID :- 503,

. 4, Option ID :- 504,
Answer Given:- 3, Option ID : -503

Question ID:- 127

The resistance between points A and B is :

—WWWA /M AWW—
68 91)
A— —B
VWA
15 Q)
(1) 290
(2) 75Q
(3) 150
(4) 18.6 Q
fargall A 3l B & mexr iy ©
VAVAVAVAY VWA —
6} 9
A— ——B
vV
15 Q
(1) 29 9Q
2) 759
3) 150
(4) 186 Q
Options:-

.1, Option ID :- 505,
. 2, Option ID :- 506,
. 3, Option ID :- 507,

. 4, Option ID :- 508,
Answer Given:- 2, Option ID : -506

Question ID:- 128
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The value of resistor R in order to have current [ equals to 0.45 A, will be :
45V

i I

=ity

[S%)

—~ e~~~
- I~2
et el N
rJ
=
=
]

HRITF 045 AR & fau yfgg R AH 2

45V
Il L1
VWV
300 2
VWV
R
(1) 150 Q
(2) 200 ©
(3) 250 Q
(4) 300 Q
Options:-

.1, Option ID :- 509,
. 2, Option ID :- 510,
. 3, Option ID :- 511,

. 4, Option ID :- 512,
Answer Given:- 1, Option ID : -509

Question ID:- 129

A He?™ ion travels at right angles to a magnetic field of 0.80 T with a velocity of 10° m/s. The
magnitude of the magnetic force on the ion will be :

electron charge=1.6x10~1 )
1) 0.64x10"4 N

— — — — —

2) 1.28x10" 4N
3) 256x107 M N
4) 512x10~4 N
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T He?* o7 forelt 0.80 T Johia & # &3 % e 10° m/s 37 | TfadH 81 39 3P W @ arel
FrIH 9 1 YREW T (SR A SAEY=1.6 %10~ C)

(1) 0.64x10~14 N

(2) 128x10~“ N

(3) 256x10"M N

(4) 5.12x10 14N

Options:-

.1, Option ID :- 513,
. 2, Option ID :- 514,
. 3, Option ID :- 515,

. 4, Option ID :- 516,
Answer Given:- 2, Option ID : -514

Question ID:- 130

How many grams of SbF; are needed to produce one gram of Freon-12, CCL,F,, according to the
reaction represented by this equation ?

2CCl, +25bF, — 3CCl,F, +25bCl,

Substance Molar Mass
SbF, 179 g mol ™~
CCLE; 121 g mol !

(1) 0.667 g

(2) 0986 g

(3) 150¢g

(4 222¢

39 HHIH R W&A SATHfRE 3 STER, T U HiHE-12, CCL,F, % Scied & feIu fhae 7™ SbF,
ST BIt 8 2
2CCl, +2SbF; — 3CCL,F,+2SbCly

Tavet e’ OTd
SbF, 179 ¢ mol™ 3
CCl,F, 121 g mol 1
(1) 0.667 g

) 0986 g
) 150 g
) 222g

a2

(4
Options:-

.1, Option ID :- 517,
. 2, Option ID :- 518,
. 3, Option ID :- 519,

. 4, Option ID :- 520,
Answer Given:- 2, Option ID : -518
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Question ID:- 131

Some metals can be obtained by heating the metal oxide with Carbon. This process is called :
(1) Combustion

(2) Electrolysis
(3) Oxidation
(4) Reduction

HTq STEAIZE 1 e o |1Y T ok F UIGU 9 it S Hehell € | 98 W & -
(1) =&

(2) SeERIfarEd
(3)  SHleRdIeRTTl (I9=FA)
(4)  STTEEA

Options:-

.1, Option ID :- 521,
. 2, Option ID :- 522,
. 3, Option ID :- 523,

. 4, Option ID :- 524,
Answer Given:- 4, Option ID : -524

Question ID:- 132

The following chemical reaction

AgNO4 +NaCl — AgCl] +NaNO,
is an example of which kind of reaction ?
(1) Combination
(2) Decomposition
(3) Displacement
(4) Precipitation

Freafafaa vt sfufean
AgNO; +NaCl — AgCl| +NaNO,

g gerr =1 arfaferan o1 ST © 2

(1) FasHA

(2) sr9EeA (fodsH)

(3) Teramos

(4) AF&I
Options:-

.1, Option ID :- 525,
. 2, Option ID :- 526,
. 3, Option ID :- 527,
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. 4, Option ID :- 528,
Answer Given:- 4, Option ID : -528

Question ID:- 133

A circular coil of radius 40 mm consists of 100 turns of conducting wire and the current through it
is 20 mA. The magnetic field in the centre of the coil will be : (py=4 wx10~7 Hm™1)

(1) 3.14x107°T

(2) 471x10°5T
(3) 628x107°T
(4) 1.26x1074T

40 mm =0 =1 foFelt ade Foeed § 9o IR % 100 T E 91 3HY 20 mA F UN YaEd o © 2
FHUSE o g T GIhT G H AT T : (=4 wx10~7 Hm )
(1) 3.14x1075T

(2) $T7UxT0=5>T

(3) 6.28x107°T

(4) 1.26x1074T
Options:-

.1, Option ID :- 529,
. 2, Option ID :- 530,
. 3, Option ID :- 531,

. 4, Option ID :- 532,
Answer Given:- 1, Option ID : -529

Question ID:- 134

A solencid 0.5 m long has 2000 turns of conducting wire. The magnetic induction near the centre
of the solenoid is 0.08 T. The current through the solenoid will be approximately :

(hp=4wx10~7 Hm™1)
(1) 10 A
(2) 16 A
(3) 24 A
(4) 32 A

0.5 m @l e ® =res a’ % 2000 ¥R E | R % %y % e 0.08 T 1 T I 2
gfTferert & garfed 9r =1 Fehedd 91 € : (wy=4wx10~7 Hm ™}

(1) 10 A
(2) 16 A
(3) 24 A
4) 32A

Options:-

.1, Option ID :- 533,
. 2, Option ID :- 534,
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. 3, Option ID :- 535,

. 4, Option ID :- 536,
Answer Given:- 3, Option ID : -535

Question ID:- 135

Match the Table - I and Table - II, given below and then using the code below the tables, select the

correct answer.

Table - 1 Table - 11

(Phenomenon) (Scientist)
(A) Heating effect of electric current (i) Michael Faraday
(B) Magnetic effect of electric current (i) Joule
(C) Electromagnetic induction (iii) Hans C. Oersted
(D) Potential difference between two points (iv) Alessandro Volta
Code :
(1) (A)-G), (B)-Gi), (O)ii), (D))
(@) (A)(i), B)-(v), (O-A), (D))
(3)  (A-G), (B)-(id), (Q)-(i), (D)-(iv)
(4)  (A)-Giv), (B)-(ii), (©-Gi), (D)-()

e & T et - 1 - W e 5

e - 1
(afteresm)
(A) fagd o =1 a9 gura i)
(B) Torgd w1 gareha w9E (i)
(C) AR YT (iid)
(D) @ foiged & == fasaEiat (iv)
'ncg'_c." -
(1) (A)-(), (B)-(i1), (O)-(iii), (D)-(iv)
(2)  (A)-(i), (B)-(v), (O)-(1), (D)-(iii)
(3)  (A)-(i), (B)-(iii), (O)-(i), (D)-(iv)
(4)  (A)-(v), (B)-(iii), (C)-(i), (D)-(1)
Options:-
.1, Option ID :- 537,
. 2, Option ID :- 538,
. 3, Option ID :- 539,
. 4, Option ID :- 540,

Answer Given:- 3, Option ID : -539

gierdi % = e 14 %2 1 39 1 wEl 3 g
ot - 11
(STTR)
e IS
LS

5 i, e
STeT=E] dieel

Question ID:- 136
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Which one of the following statements is not TRUE in regard to the hearing of sound ?
(1) The audible range of sound for human beings ranges between 20 Hz to 20 kHz.
(2) Sounds of frequencies below 20 Hz are called infrasonic waves.

(3) As human grow older, their ears remains equally sensitive for all frequencies.

(4)

4)  Dogs can hear sounds having frequencies upto 25 kHz.

waf1 &t gegan & fou fr=fafed womi 8 9 & 91w a9 76 72

(1) =maE % foau saf =1 geaa W 20 Hz 9 20 kHz % =19 8 2

(2) 20Hz g F w1 F1 A sugsr a8 Feart 3

(3) =AfEEl &t 211g g+ W off 37 & 9 saftEi & ferw gum w9 9 g 99 W €
(4) T 25 kHz Tgfa o ot &af7 &1 g7 ded B |

Options:-

.1, Option ID :- 541,
. 2, Option ID :- 542,
. 3, Option ID :- 543,

. 4, Option ID :- 544,
Answer Given:- 4, Option ID : -544

Question ID:- 137

An incident ray of light makes an angle of 25° with the normal to a plane mirror. The mirror is then
so turned through 7°, making the angle of incidence for the same ray of light 32°. The reflected ray
will then be rotated by angle :

(1) 3.5°
2) 7.0°
(3) 10.5°
(4)  14.0°

fordll Tae gdw W eTafad e i U fRo <0 o srfies € 25° % @0 FA § 1 Y R W 59
TehR AT SrdT ¥ fo et yemrr foRor o faw staeE o 32° €1 s &1 qafda fer fRas o &
S 2

(E) 8.5°
(2) 7.0°
(3) 10.5°
(4) 14.0°
Options:-

.1, Option ID :- 545,
. 2, Option ID :- 546,
. 3, Option ID :- 547,

« 4, Option ID :- 548,
Answer Given:- 2, Option ID : -546

Question ID:- 138



https://aview.in/
https://aview.in/category/previous-papers/

Which one of the following is a displacement reaction ?
(1) Mg(s) +Cly(g) = MgCly(s)

2) HCl(aqg) + NaOH(aq) — NaCl(aq) + H,O(l)

3) CuSO,(aq) +Fe(s) — FeSO,(aq) + Cu(s)

(
(
(4) 2PbNO,(s) — 2PbO(s) +4NO,(g) + O,(g)

frafafaa § 9 $F 9 us fazamm sifafman 22
(1) Mg(s) +Cly(g) = MgCly(s)

(2) HCl(aq) + NaOH(aq) — NaCl(aq) + H,O(l)
(3) CuSOy(aq) +Fe(s) — FeSO,(aq) + Cu(s)

(4) 2PbNO3(s) — 2PbO(s) +4NO,(g) + O,(g)
Options:-

.1, Option ID :- 549,

. 2, Option ID :- 550,

. 3, Option ID :- 551,

. 4, Option ID :- 552,
Answer Given:- 3, Option ID : -551

Question ID:- 139

Burning of Coal is a/an :
(A) Combination reaction
(B) Endothermic reaction
(C) Exothermic reaction
(D) Decompsition reaction
Choose the correct option.

(1) (A)only
(2)  (C) only
(3) (A)and (C) only
(4) (B) and (D) only
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T 1 ST § T

(A) HaeE sAfafsman

(B) Zwmet sifwfman

(C) wemiardt sfferan

(D) stuered (faars) siffshan

| famea |

(1) e (A)

(2) %= ()

(3) haE (A) ST (C)
(4) 9 (B) ¥R (D)
Options:-

.1, Option ID :- 553,
. 2, Option ID :- 554,
. 3, Option ID :- 555,

. 4, Option ID :- 556,
Answer Given:- 2, Option ID : -554

Question ID:- 140

The correct formula for Calcium chlorite (bleaching powder) is :
(1) Ca(ClO,),

(2) CaClO,

(3) Ca(ClOy),

(4) Ca(ClOy),

hicer FRTEe (ST TSER) e g R
(1) Ca(ClO,),

(2) CaClo,

(3 Ca(ClOs),

(4) Ca(ClO,),

Options:-

.1, Option ID :- 557,
. 2, Option ID :- 558,
. 3, Option ID :- 559,

. 4, Option ID :- 560,
Answer Given:- 2, Option ID : -558

Question ID:- 141
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Which of these salts should be dissolved in water to produce a solution witha pH <7 ?
(1) Sodium acetate

(2) Potassium nitrate
(3) Aluminium chloride
(4) Sodium hydrogen carbonate

pH < 7 &1 W& faeras s9m & fou frefafes 8 @ &6 o a@au i@ o e =ifeg ?

(1) Hifean wHiez

(2) refeEm e

(3) THFEE FARES

(4) it BEGSH FEHE
Options:-

.1, Option ID :- 561,
. 2, Option ID :- 562,
. 3, Option ID :- 563,

. 4, Option ID :- 564,
Answer Given:- 3, Option ID : -563

Question ID:- 142

Which of the following metal oxides is amphoteric ?

(1) CuO
(2) Na,O
(3) MgO
(4) ALO,

(1) CuO
(2) Na,O
(3) MgO
(4 ALO,

Options:-

.1, Option ID :- 565,
. 2, Option ID :- 566,
. 3, Option ID :- 567,

. 4, Option ID :- 568,
Answer Given:- 4, Option ID : -568

Question ID:- 143
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An object 12 mm high is placed at a distance of 0.4 m from a concave mirror. The radius of
curvature of the mirror is 0.4 m. The location of the image will be :

(1) 02m
(2) 04m
(3) 0.6m
(4) 08m

12 mm 5= =1 i forsy forelt evadet <901 & 0.4 m 8 0 @1 T § | 290 Y Feher-5 0.4 m ¥ 1 wiafes
=1 feerfa =m 2rft 2

(1) 02m
(2) 04m
(3) 0.6m
(4) 08 m
Options:-

.1, Option ID :- 569,
. 2, Option ID :- 570,
. 3, Option ID :- 571,

. 4, Option ID :- 572,
Answer Given:- 2, Option ID : -570

Question ID:- 144

A diverging lens forms an image one-third the size of an object that is placed 24 cm from the lens.
The focal length of the lens will be :

(1) 6cm
(2) 8cm
(3) —10 em
4 —-12cm

forlt TRt &g | 24 om T W @ Tt foia =01 wfdfara, foa % aee % te-faeE s & a9a@ 21 o g
ﬁmqﬁ%

(1) 6cm

(2) 8cm

(3) —10 cm

(4) —12cm
Options:-

.1, Option ID :- 573,
. 2, Option ID :- 574,
. 3, Option ID :- 575,

. 4, Option ID :- 576,
Answer Given:- 1, Option ID : -573

Question ID:- 145



https://aview.in/
https://aview.in/category/previous-papers/

Which metal will react most vigorously with water ?
(1) Na

K

Mg

a

(2)
(3)
(4)

»

i W g S o WY Faifee oo SAffmar s ?

(1) Na
(2) K
(3) Mg
(4 Ca

Options:-

.1, Option ID :- 577,
. 2, Option ID :- 578,
. 3, Option ID :- 579,

. 4, Option ID :- 580,
Answer Given:- 1, Option ID : -577

Question ID:- 146

Metallic zinc will not reduce :

(1) Cu2t

@ &

(3 Ag*

(4:) AJ3+

= ¥ frg afeas e suafaa & o ?
() Curt

(2) HYF

3 Ag*

(4:) A.]3+
Options:-

.1, Option ID :- 581,
. 2, Option ID :- 582,
. 3, Option ID :- 583,

. 4, Option ID :- 584,
Answer Given:- 4, Option ID : -584

Question ID:- 147
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In the electrolytic refining of copper, an electric current is passed through a cell containing a pure
copper electrode, an electrode of impure copper, and an aqueous solution containing copper ions.
In this process, the impure copper electrode is called the :

(1) Anode

(2) Cathode

(3) Reference electrode
(4) Indicator electrode

i 35 S ST TR H T Y 1 ¥ SRS, SIS A 6 T SRS iR A ¥ e A
e S S S S F S e T 2 R 6 e A T e
1 gl S 2

() s

(2) HdrE
(3) wed wwre
(4) Hhds-3daRIS

Options:-

.1, Option ID :- 585,
. 2, Option ID :- 586,
. 3, Option ID :- 587,

. 4, Option ID :- 588,
Answer Given:- 1, Option ID : -585

Question ID:- 148

When dilute Sulphuric acid is added to Zinc granules, which one of the following gases will be
evolved ?

(1) Sulphur dioxide

(2) Hydrogen
(3) Oxygen
(4) Hydrogen sulphide

s % gFl 4 a Wewier o Toer s W Fretfafea 3 @ i @ i fee 2
(1) HEH SRAFEE

(2) EEGHH

(3) SHATeRdTSH

(4) TEENH HOHRS

Options:-
.1, Option ID :- 589,

2

. 2, Option ID :- 590,
. 3, Option ID :- 591,
. 4, Option ID :- 592,
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Answer Given:- 2, Option ID : -590

Question ID:- 149

What type of compound is CH;CH,COCH; ?

(1) Alcohol
(2) Aldehyde
(3) Ketone
(4) Ether

CH,CH,COCH, fo#9 w&R =1 ifiT 2 2

(1) UehEA
(2) TUfcesEs
(3) I
(4) TN
Options:-

.1, Option ID :- 593,
. 2, Option ID :- 594,
. 3, Option ID :- 595,

. 4, Option ID :- 596,
Answer Given:- 4, Option ID : -596

Question ID:- 150

In the complete combustion of Butane, the products obtained are :
Water and Carbon

)
2) Butanone and Water
(3) Carbon dioxide and Water

) Carbon dioxide and Hydrogen

A % Y01 & o ScUIE B © -
(1) it IR HEE

Options:-

.1, Option ID :- 597,
. 2, Option ID :- 598,
. 3, Option ID :- 599,

. 4, Option ID :- 600,
Answer Given:- 3, Option ID : -599

Question ID:- 151
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When Ethanol is heated with Sulphuric acid, the major product is :
(1) Ethane

(2) Ethene

(3) Ethyne

(4) Ethyl sulphate

el AT 1 HewE v & WY TH fRa S g, o wE 39E §

(1) wH

(2) TwhH

(3) TEA

(4) Ufod wEhe
Options:-

.1, Option ID :- 601,
. 2, Option ID :- 602,
. 3, Option ID :- 603,

. 4, Option ID :- 604,
Answer Given:- 2, Option ID : -602

Question ID:- 152

Any saturated hydrocarbon that is classified as an octane must have the molecular formula.

(1) CgHg

(2) CgHyy
(3) CgHyg
(4) CgHyg

ot oft dyw eEgeET 99 e & w9 § Friida e o 8, Suen enfvass g3 & =ifeu
(1) CgHg

(2 CgHyy

(3) CsHye

(4)  CgHyg
Options:-

.1, Option ID :- 605,
. 2, Option ID :- 606,
. 3, Option ID :- 607,

. 4, Option ID :- 608,
Answer Given:- 4, Option ID : -608

Question ID:- 153
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How many grams of MgCO5; contain 24.0 g of Oxygen ? (The molar mass of MgCO; is
84.3 gmol 1)

(1) 422¢g
(2) 843 g
3) 126 g
(4 154¢g

fope TM MgCO, H24.0 M S 81 8 2 ( MgCO, F1 HIeR 5599 84.3 gmol ' §)

(1) 422¢
(2) 843 ¢
3) 126 g
(4) 154 g

Options:-

.1, Option ID :- 609,
. 2, Option ID :- 610,
. 3, Option ID :- 611,

. 4, Option ID :- 612,
Answer Given:- 1, Option ID : -609

Question ID:- 154

For hearing a distinct echo by the human, the time interval between the original sound and the
reflected one must be at least :

(1) 0.01s
2) 01s
3) 1s
4) 2s

Hal & fore, T yfaeaft g3+ & fau ga =i qu qwafdd == & &= @ fwa $5-89-%9 999
S SELF Bl & ?

(1) 0.01s
(2) 0.1s
(3) 1s
4 2s

Options:-

.1, Option ID :- 613,
. 2, Option ID :- 614,
. 3, Option ID :- 615,

. 4, Option ID :- 616,
Answer Given:- 4, Option ID : -616

Question ID:- 155
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Which of the following is not a Colloid ?

(1)  Milk
(2) Mud
(3) Butter
(4) Boric acid
freafafea & § 7 W FemEs 776 22
(1) =¥
(2 fazd
(3) HFEd
(4) @R A
Options:-

.1, Option ID :- 617,
. 2, Option ID :- 618,
. 3, Option ID :- 619,

. 4, Option ID :- 620,
Answer Given:- 2, Option ID : -618

Question ID:- 156

Which of the following phenomenon does not occur in sound wave ?
(1) Diffraction

(2) Reflection
(3) Polarization
(4) Interference

frefafed afteemsii & 9§ &9 9 v wfq ot o 761 8t ?

(1) faadH

(2) HUERH

(3) ¥au

(4) SATTRI
Options:-

.1, Option ID :- 621,
. 2, Option ID :- 622,
. 3, Option ID :- 623,

. 4, Option ID :- 624,
Answer Given:- 2, Option ID : -622

Question ID:- 157
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Given that the acceleration due to gravity on the moon is one sixth that on the earth. A person can
throw a stone 10 m straight upward on the earth. Assuming same throwing speed, the height, the
person will be able to throw a stone on the moon is :

(Take acceleration due to gravity =10 m/s?)

(1) 30m
(2) 60m
(3) 90m
(4) 120 m

feam T 2 fo <gm T e @ geEt ) 9o § 98 T FH €1 U SfE Y W10 m S F oI
Yeok ek Tehell © | WYY whi 28 T O 9 Sfe SEH W YeeR I el SE a9 39T e ?
(TTEcaTF YT & HRI @T=10 m/s?)

(1) 30 m
(2) 60m
(3) 90 m
(4) 120 m

Options:-

.1, Option ID :- 625,
. 2, Option ID :- 626,
. 3, Option ID :- 627,

. 4, Option ID :- 628,
Answer Given:- 2, Option ID : -626

Question ID:- 158

Identify the greenhouse gases from the list given below and answer from the codes given.
(A) Water vapour

(B) Ozone

(C) Carbon monoxide

(D) Nitrogen

Select correct answer from the following codes.

(1) Only (A) and (B) of the above.

(2) (A), (B) and (C) of the above.
(3) Only (A) and (D) of the above.
(4)  All of the above.
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= few mu A | 1 g {9 w1 vew = i T we § s S
(A) SeraTsq

(B) 3ISIH

(C) e HAIATFES

(D) e

e few T e | TR SR FH |

(1) 39ER H 9 shad (A) iR (B)

(2) SWEEHF (A), (B) 3R (O)

(3) ST H A FAA (A) 3R (D)

(4) Ul At

Options:-

.1, Option ID :- 629,
. 2, Option ID :- 630,
. 3, Option ID :- 631,

. 4, Option ID :- 632,
Answer Given:- 1, Option ID : -629

Question ID:- 159

Which of the following is not an example of the group algae ?
(1) Fucus

(2) Porphyra

(3) Sphagnum
(4)

4)  Polysiphonia

Frefafad # | #F @1 99e o 1 e T8 €2

(1) ™=»H

(2) GIEET

(3) THEH

(4) UifcrHEE
Options:-

.1, Option ID :- 633,
. 2, Option ID :- 634,
. 3, Option ID :- 635,

. 4, Option ID :- 636,
Answer Given:- 3, Option ID : -635

Question ID:- 160
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In which of the group of organism Algin carbohydrate is found ?

(1) Phaeophytes
(2) Rhodophytes
(3) Pteridophytes
(4) Gymnosperms

e 9 & SitaufEl | ofe™ 9me IRy O Sl 8 2

(1) fireEe
(2) U<rEe
(3) fEmwEe
(4) eSS

Options:-

.1, Option ID :- 637,
. 2, Option ID :- 638,
. 3, Option ID :- 639,

. 4, Option ID :- 640,
Answer Given:- 1, Option ID : -637

Question ID:- 161

Identify the organism from the option given below which is always heterotrophic.
(1) Nostoc

(2) Bacteria
(3) Mucor
(4) Chlamydomonas

= feu o fawmedl § 9 59 S # TS e o God YL 8 & |

(1) #=Lh

(2) fram

(3) ¥H

(4) FERSEARE
Options:-

.1, Option ID :- 641,
. 2, Option ID :- 642,
. 3, Option ID :- 643,

« 4, Option ID :- 644,
Answer Given:- 3, Option ID : -643

Question ID:- 162
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Which of the following is a wrong statement about system of binomial nomenclature ?

(1)

Name of an organism is a combination of the name of genus and species together.

While writing the name of an organism first letter of the genus and species name is written in
capital letters.

Genus and species names are italicised while printing.
Name of the author who first described the organism may also be written after species epithet.

foug T ugfa & foau fefafea 4 9 #9691 oF Toa #2022

(1)
(2)

(3)
(4)

ot off Sft =1 =9 39 <79 Td TS & T % 9=y ¥

forddt ot Sfra & =19 =1 foran 999 Sa S v wfielis & i 3 vem s1er 92 sl o fawan
TS

DU & 9 S Td TS % A R fowe v S g1

forg ores = Tt Sfg =1 veclt 9IR 9uiF foran a1 @ SHeh 9 Tieis SEM o g9 foran =
T B

Options:-

.1, Option ID :- 645,
. 2, Option ID :- 646,
. 3, Option ID :- 647,

. 4, Option ID :- 648,
Answer Given:- 2, Option ID : -646

Question ID:- 163

Cnidoblasts are specialized cells used for the purpose of :

(1)

(2)
(3)
(4)

Movement of water among coelenterates.
Defence among coelenterates.
Defence among Echinoderms.

4) Digestion of food among Annelids.
FrEreare e fafvre ifverd o St &
(1) Hreree & e § S & 99 g
(2) Hierele & Wil § e ¥

(3) TUHTEATSH & YR § TR& ¥

(4) TAeer o gifoEl | 9 g
Options:-

.1, Option ID :- 649,
. 2, Option ID :- 650,
. 3, Option ID :- 651,

. 4, Option ID :- 652,
Answer Given:- 2, Option ID : -650

Question ID:- 164
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Which of the following is correct match for disaccharide sugar ?
(A) Maltose : Glucose + Ribose

(B) Sucrose : Glucose + Fructose

(C) Lactose : Galactose + Fructose

Select the correct answer from the options given below :

(1) Only (A) of the above.

(2) Only (B) of the above.

(3) Onlv (B) and (C) of the above.

(4) Only (A) and (B) of the above.

frefefad 9 & = fgeehu o fog @&t Sigl g7 .
(A) WY : 7Y + AT
(B)  ¥[3hIH : ToIhIST + oM
(C) WRM : TeiR™ + Fad
2 few T e | HE IR G|
(1) 39 H ¥ had (A)

(2) S H 9 %9 (B)

(3) W H § Fad (B) T (C)
(4) 3I9EK H 9 had (A) TE (B)
Options:-

.1, Option ID :- 653,

. 2, Option ID :- 654,

. 3, Option ID :- 655,

. 4, Option ID :- 656,
Answer Given:- 2, Option ID : -654

Question ID:- 165

Which one of the following statements is incorrect about triglyceride ?
(1) These are non-polar in nature.

(2) These are formed from glycerol

(3) Glycerol of the molecule has two —OH groups.

i
(4) —OH groups of glycerol binds with — C— OH groups of fatty acids.
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ifieage & fau frefafed § 8 &0 @1 oA Tew 2|
(1) 3 18E 9Hia & 24§
(2) 3 fewRia ¥ a9d g1
(3) @1 fieria § &1 — OH 998 1Y S ¥ |
o)
(4) WW—OHWWW%—S—OH T & WY §Y A 7

Options:-

.1, Option ID :- 657,
. 2, Option ID :- 658,
. 3, Option ID :- 659,

. 4, Option ID :- 660,
Answer Given:- 3, Option ID : -659

Question ID:- 166

Which of the following structure is not found in proteins ? Identify the same and answer from the
codes given below :

H O
Il

R
'IO H
| |
H

R H

[ |

C—=C—=N-C=C
(©) | I
H @)
Code

(1) Only (A) and (B) of the above
(2) Only (B) of the above
(3) Only (B) and (C) of the above
(4) Only (C) of the above
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Frefafad 9 § SF o =T 96 § 798 Ul SR §2 39! TeEH S wE A T e § 3@ )

H O
[l

R
P
@ R—-C-O ? H
H
P
© c—?—N—ﬁ—c
H 0
%<
(1) 9 | | hera (A) 3R (B)
(2) S H H Fad (B)
(3) 9K H ¥ el (B) W (C)
(4) 9 H F %ad (Q)
Options:-

.1, Option ID :- 661,
. 2, Option ID :- 662,
. 3, Option ID :- 663,

. 4, Option ID :- 664,
Answer Given:- 2, Option ID : -662

Question ID:- 167

Identify the symbiotic nitrogen fixing bacteria from the following and select the code for correct
answer from the codes given below.

(A) Azotobacter

(B) Azospirillum

(C) Rhizobium

Code :

(1) Onlv (C) of the above

(2) y (B) and (C) of the above
(3) Only (A) and (C) of the above
(4) All of the above
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Freafafed & | wesidt Tdem feerdiso stam] &) vear X 5 fou T Fz # ¥ 98 Sar 91 Fe @
FIA B

(A) TeIgFRY

(B) UwifEgRem

(C) uEsilfsaH

%< :

(1) 3T H H Fad (O)

)
) W | ¥ e (B) W ()
3) I H ¥ HaA (A) W6 (Q)
) SUE H W g

Options:-

.1, Option ID :- 665,
. 2, Option ID :- 666,
. 3, Option ID :- 667,

. 4, Option ID :- 668,
Answer Given:- 1, Option ID : -665

Question ID:- 168

To which group of kingdom fungi mushrooms are classified ?
(1) Ascomycetes

(2) Basidiomycetes

(3) Deuteromycetes
(4)

4 Phycomycetes

ek §Y o fohe 9 § FHIT hl aFiichd TRl ST & ?

(1) TR

(2) afafeamEfada

(3) TAEEIH

(4) HHRMEEIE
Options:-

.1, Option ID :- 669,
. 2, Option ID :- 670,
. 3, Option ID :- 671,

. 4, Option ID :- 672,
Answer Given:- 2, Option ID : -670

Question ID:- 169
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To which of the following animal phylum Pleurobranchia belongs ?
(1) Coelenterata

(2) Ctenophora
(3) Mollusca
(4) Hemichordata

iRl fFrfafed § 9 fore wifon 59 & siqia o 82

(1) e
(2) SHIBR
(3) HIH=hI
(4) =i
Options:-

.1, Option ID :- 673,
. 2, Option ID :- 674,
. 3, Option ID :- 675,

. 4, Option ID :- 676,
Answer Given:- 2, Option ID : -674

Question ID:- 170

Structure parapodia is observed in which group of animals ?
(1) Crustacea

(2) Annelida
(3) Ctenophora
(4) Porifera

o a9e &% Wit # qrodifear Ames 9o oE = € 2

(1) wmeeforn
(2) TAfere
(3) FHMER
(4) IR
Options:-

.1, Option ID :- 677,
. 2, Option ID :- 678,
. 3, Option ID :- 679,

. 4, Option ID :- 680,
Answer Given:- 2, Option ID : -678

Question ID:- 171
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Which of the following is popularly known as Vitamin-E ?
(1) Calciferol

(2) Cyanacobalamin
(3) Tocopherol
(4) Phytonadione

Frfafed # & ford T w9 9 faafim-g o 4 8 S s 62

(1) Ffeqtra

(2) HEATRERTEA

(3) ErRTEe

(4) FEHETEAA
Options:-

.1, Option ID :- 681,
. 2, Option ID :- 682,
. 3, Option ID :- 683,

. 4, Option ID :- 684,
Answer Given:- 3, Option ID : -683

Question ID:- 172

Identify the food sources for Calcium from the following options and select correct answer from
the codes given below :

(A) Milk

(B) Salmon fish
(C) Rice

(D) Beans

Code :

(1) Only (A) and (B) of the above
(2) Only (B) and (D) of the above
(3) (A), (B) and (C) of the above
(4) (A), (B) and (D) of the above
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Freafafes 3 & 39 e =i & 9g9m # oed Sy fiam € @ 9= e g 9 § ot s w
T

(A) ¥ (3¥)

(B) HIeTHT Haat

(C) =meeT

(D) e

(1) 39 H | %ad (A) 3R (B)
(2) W HH FaA (B) X (D)
(3) TR FF (A), (B) 3R (C)
(4) W H F (A), (B) 3 (D)
Options:-

.1, Option ID :- 685,

. 2, Option ID :- 686,

. 3, Option ID :- 687,

. 4, Option ID :- 688,
Answer Given:- 3, Option ID : -687

Question ID:- 173

Identify the wrong statement about human heart from the option given below.
(1) Aorta arises from right ventricle.
Opening between left atrium and left ventricle is guarded by bicuspid valve.

(2)
(3) Right ventricle receives deoxygenated blood.
(4)

Sino-atrial node is present in right atrium.

4 7ed & fau fr=fafaa fased § 9 7o Y4 &t 989M 6 2
(1) wer Sife frem | frererdt €1

(2) = enfere we @ frem & W & fog W fw fore ares arn s 2
(3) aifem frem sifeefed @ g e Bl
(4) FrE-snfeRe e Tife enfare o Sufter S & |

Options:-

.1, Option ID :- 689,
. 2, Option ID :- 690,
. 3, Option ID :- 691,

. 4, Option ID :- 692,
Answer Given:- 1, Option ID : -689

Question ID:- 174
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Which of the following is not a function of Lymph ?
(1) Carrier for nutrient

(2) Exhibiting immune response

(3) Transport of oxygen

(4) Absorption of fat

frefafes § & w9 o o &1 & T8 82
(1) e S

(2) wfaean gfafswan =61 st

(3) ARSI o AT

(4) S AU

Options:-

.1, Option ID :- 693,
. 2, Option ID :- 694,
. 3, Option ID :- 695,

. 4, Option ID :- 696,
Answer Given:- 3, Option ID : -695

Question ID:- 175

What is the term used for total volume a person can breath in after normal expiration ?
(1) Expiratory capacity
(2) Inspiratory capacity
(3) Vital capacity
(4)

4 Tidal volume

314: 3997 1 98 U1 STEaA 5 U A G [7:9997 & 918 T Tl & 39 91 Fed © 2
(1) TveET goa

(2) SAd:TerEA goal

(3) i &Hdl

(4) SETA STECH
Options:-

.1, Option ID :- 697,
. 2, Option ID :- 698,
. 3, Option ID :- 699,

. 4, Option ID :- 700,
Answer Given:- 4, Option ID : -700

Question ID:- 176
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Process of gaseous exchange during respiration takes place between :
(1) Epithelium of alveoli and Epithelium of blood capillary.

(2) Epithelium of alveoli and Endothelium of blood capillary.

(3) Endothelium of alveoli and Endothelium of blood capillary.
(4)

4)  Endothelium of alveoli and Epithelium of blood capillary.

v & g7 9 fafrma 5t wfman ad @
(1)  =fUsh1 =1 3ushen TS &L HiWERES] i 3uFal & ==

(2) YT i Iushen s EfeR Kferist i Hd:wen & o=
(3)  hfUshl ol Sfd: el UH TfeR HiRERISAT i Fd:Hen & o=
(4) YT AT d: el T FfL KRFSA] I 3UHA F ==

Options:-

.1, Option ID :- 701,
. 2, Option ID :- 702,
. 3, Option ID :- 703,

. 4, Option ID :- 704,
Answer Given:- 2, Option ID : -702

Question ID:- 177

During the process of cellular respiration i.e. glycolysis which of the following is not a 3-carbon
atom compound.

(1) Pyruvic acid

(2) Dihydroxy acetone phosphate
(3) 2-phosphoglycerate
(4) Fructose 6-phosphate

HIfeRta vaee st i 1ol TEseRiad & g9 frafafed § § wF @ - g 8 %72
(1) sl v

(2) EEEESEd THIH Hieke

(3) 2-WERINTEE

(4) FRE 6-FER

Options:-

.1, Option ID :- 705,
. 2, Option ID :- 706,
. 3, Option ID :- 707,

. 4, Option ID :- 708,
Answer Given:- 4, Option ID : -708

Question ID:- 178
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Symplastic system in plant is formed through which of the following ?
(1) Mycorrhiza

(2) Plasmodesmata

(3) Casperian strip
(4)

4)  Cohesion-tension pull

Frrerfafaa o 9 formes g didi § faeenfiess o3 s @

(1) HrEhREs

(2) TEARHISEHR

(3) HHfEd wed

(4) HESH-TE fE=EE

Options:-

.1, Option ID :- 709,
. 2, Option ID :- 710,
. 3, Option ID :- 711,

. 4, Option ID :- 712,
Answer Given:- 2, Option ID : -710

Question ID:- 179

Which of the following statement is wrong for pollen grain ?
(1) It contains generative cell.
It contains vegetative as well as generative cell.

(2)
(3) Generative cell of pollen grain is spindle shaped.
(4)

Generative cell of pollen grain give rise three male gametes.

qreRTll < o frefafad § 9 e o1 e Tea 22
(1) =5H S IR WE S

(2) SEH FIFE T S HIER S B ¢ |

(3) RIS i S ISR THET Bt 2|

(4) TOFTHR ! S HIVIH G O R JTHE I € |

Options:-

.1, Option ID :- 713,
. 2, Option ID :- 714,
. 3, Option ID :- 715,

. 4, Option ID :- 716,
Answer Given:- 4, Option ID : -716

Question ID:- 180
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In which of the following plant endosperm is not completely used and remains present in mature
seed ?

(1) Peas

(2) Castor

(3) Ground nut
(4) Beans

Frefafed & & form 08§ v =1 gl w9 & Sy =& 2 & vd fasea siw o suferd dar g ?

(1) #eX
(2) ATUET
(3) HTEEA
(4) el

Options:-

.1, Option ID :- 717,
. 2, Option ID :- 718,
. 3, Option ID :- 719,

. 4, Option ID :- 720,
Answer Given:- 2, Option ID : -718

Question ID:- 181

Which of the following is diploid in case of human spermatogenesis ?
(1) Secondary spermatocyte

(2) Spermatids
(3) Sertolicells
(4) Spermatozoa

e THerHEY  fau fF=fafea |5 9 0 fgfa Sa g 2

(1) Tgdfi=er TR

(2) wuHfeE

(3) WRTelt =hifeERTd

(4) SIS
Options:-

.1, Option ID :- 721,
. 2, Option ID :- 722,
. 3, Option ID :- 723,

. 4, Option ID :- 724,
Answer Given:- 3, Option ID : -723

Question ID:- 182
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Level of which of the following hormone does not remain at its peak level at the time of ovulation
in human female ?

) Follicle stimulating hormone
(2) Leutinizing hormone
(3) Progesterone
(4) Estrogen

e e § S{Eredt & 99 fog 2bF = Y 37 dais T 9 T Bl § 2
(1) ThifcAfhrel Saisieh BIHM

(2) femstsgEA
(3) ISR

(4) TEISH
Options:-

.1, Option ID :- 725,
. 2, Option ID :- 726,
. 3, Option ID :- 727,

. 4, Option ID :- 728,
Answer Given:- 3, Option ID : -727

Question ID:- 183

Match the cell organelles in column - I with their functions in column - IIL.

Column - I Column - II
(A) Lysosomes (i) ‘Power houses’ of the cell that stores & releases energy
(B) Mitochondria (ii) Store nufrients and water
(C) Cell wall (iif) Digestive bags which fight against infection inside the cell
(D) Ribosomes (iv) Help in protein synthesis
(E) Vacuoles (v) Providing protection and rigidity to the cell
(1) (A)r(v), (B)-(iii), (O)-(v), (D)-(i), (B)-(i)
(2)  (A)-(i), (B)-(D), (O~(v), (D)-(iv), (E)-(ii)
(3)  (A)@v), (B)-(), (O-(v), (D)-(ii), (E)-(iii)
(4)  (A)), (B)-(i), (O-(v), (D)-{1), (E)-(v)
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wWY-1 7 feafa Sy T = W-11 1 5 T 9% w9 8 fHes Fife :

H-1 -1
(A) @TEHmY (i) RIferRT o1 AfHRRTE STl Fell o Hed oI el & §
(B) TR (i) o q SR ST H G HAT §
(C) =ikt (iii) 9= Il S RITUERN o ST HehH H Tl ¢l
(D) YEEE™ (iv) W Heror § e Sl |
(E) THuwT (v) RITSreR! o1 GR&T S gedl WeH il 2
(1) (A)»@v), (B)-(iid), (O)-(v), (D)-(), (E)-(ii)
(2 (A)(id), B)-(i), (O~(v), (D)(iv), (E)-(ii)
(3)  (A»(v), (B)-(), (O)-(v), (D)-(i), (E)-(iii)
(4)  (A)-(1), (B)-(iii), (O)-(iv), (D)-G), (E)-(v)
Options:-

.1, Option ID :- 729,

. 2, Option ID :-
. 3, Option ID :-

. 4, Option ID :-
Answer Given:-

730,
731,

732,
2, Option ID : -730

Question ID:- 184

Select the correct statements about Rough Endoplasmic Reticulum (RER) among the following :

(A) Helpsin lipid synthesis.

(B) Ribosomes are attached to its surface.

(C) Situated near the plasma membrane.

(1) (A)and (B)

(2) (A)only

(3) (B) and (C)

(4)  (B)only

forom sidaedt Sfereht [T Terenforns oo (STREeN)| & = | f=iferd H | ¥el %o g

(A) 7 fafre gyemo § geme e 2
(B) UsdEM Y= ¥ Hag a1l ¥ |
(C) e e fereedt & |y feem 2 21

1) (A) 3R (B)

2) HAdA (

4

Options:-

(
(2) A)

(3) (B) ¥R (Q)
(4) = (B

)

.1, Option ID :- 733,
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. 2, Option ID :- 734,
. 3, Option ID :- 735,

. 4, Option ID :- 736,
Answer Given:- 4, Option ID : -736

Question ID:- 185

Which of the following statements about Pteridophytes is not correct ?
(1) They are seedless plants.

( Flowers are the reproductive organs.

(3) Plant body is differentiated into root, stem and leaves.

(4) They have specialised tissue for conduction of water.

fEmrEe % a) § freifra § ¥ F9 W FF we TS g2
(1) 3 sfrorfed oey & €

(2) 959 S S B

(3) IIEY H S, 7 3R ufedl H fadea fen S R
(4) S % Hagd & fore g famidied Seae g 7
Options:-

.1, Option ID :- 737,
. 2, Option ID :- 738,
. 3, Option ID :- 739,

. 4, Option ID :- 740,
Answer Given:- 2, Option ID : -738

Question ID:- 186

In which of the following forms do the most plants absorb nitrogen ?

(A) Proteins

(B) Nitrates and nitrites
(C) Urea

(D) Atmospheric nitrogen
(1) (A) and (B)

(2) (B) and (C)

(3) (C) and (

(4) (D) only
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sAfereriyr wey f=ifrd § 9 f5g ®9 & A=dsH 1 STEviyv & § 2

(A) 9réH

(B) +rgge SR srEe
(C) Ffem

(D) dHEE AEESH
(1) (A) ¥R (B)

(2) (B) 3R (C)

(3) (O ¥R (D)

(4) e (D)
Options:-

.1, Option ID :- 741,
. 2, Option ID :- 742,
. 3, Option ID :- 743,

. 4, Option ID :- 744,
Answer Given:- 2, Option ID : -742

Question ID:- 187

Read the following statements and select the correct option.

Assertion (A) : Rate of breathing in aquatic animals is much faster than that seen in terrestrial
organisms.

Reason (R) : Aquatic organisms like fishes obtain oxygen in the dissolved state from water.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) (A) is false but (R) true.

T=fafad woi 1 9fen 3R w2l foawey gfu .

arfirerem (A) : Sieftg Sfdl § v & o2 uiftfa sfiei & gorn § sgg aifis o gt w2
THIUT (R) : STl S S8 waferi siol | gereiel sTawe § siieds T80 i ¢ |

(1) (A) 3R (R) 39 & €, 371 (R), (A) T T& =0 a2 |

2) (A) &R (R) TF wE & fg (R), (A) T TE AR T2 H

(3) (A) T ¥, W= (R) TTerd 8 |

(4) (A) TTeId &, T (R) TE T

Options:-

.1, Option ID :- 745,

. 2, Option ID :- 746,

. 3, Option ID :- 747,

. 4, Option ID :- 748,
Answer Given:- 1, Option ID : -745
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Question ID:- 188

Which of the following turns the pressure variations from sound waves into electrical signals in
the inner part of the ear ?

(1) Eardrum

(2) Cochlea
(3) Anvil
(4) Pinna

Frafafed § & @ w90 (FF) % iake g § @afF 9l F 2@ fo=m #1 fGda deas § fafd
L€ ?

(1) =Y 92

(2) oI

(3) f=rg

(4) wHofofa
Options:-

.1, Option ID :- 749,
. 2, Option ID :- 750,
. 3, Option ID :- 751,

. 4, Option ID :- 752,
Answer Given:- 2, Option ID : -750

Question ID:- 189

Read the statements below :

(A) All bacteria are unicellular.

(B) All protozoans are unicellular.

(C) All fungi are unicellular,

Which of the above statements is/are correct ?
(1) Only (A)

() (A)and (©

(3) (A) and (B)

(4) (B)and (C)
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== feu Tu wuAl 1 ufe

(A) Tft SfaT] U I B €
(B) Wit Trersiet U HIfvEE € € 1
(C) Wt Tk Uk HINRF 2 ¥ |

ISP B B T/ w0
(1) = (A)
(2) (A)#R(Q)
(3) (A) &R (B)
(4) (B) ¥R (Q)
Options:-

.1, Option ID :- 753,
. 2, Option ID :- 754,
. 3, Option ID :- 755,

. 4, Option ID :- 756,
Answer Given:- 3, Option ID : -755

Question ID:- 190

Which of the following statements is/are true for flowers ?

(A) Flowers are the sexual reproductive organs.
(B) Flowers are always bisexual.

(C) After fertilization, flowers give rise to fruits.
(1) (A)and (B)

(2) (A)and (O

(3) (B) and (C)

(4)  Only (A)

T % Hey | frefafad § 9 #9798 wuw 58 EF 2
(A) T TR 5 & o

(B) 7 Hed SvAfGT B

(C) FIi=r & wvem g H et S B €

faere -
(1) (A) 3R (B)
(2) (A)3R(©Q)
(3) (B) R ()
(4) wHFA (A)
Options:-

.1, Option ID :- 757,
. 2, Option ID :- 758,
. 3, Option ID :- 759,
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. 4, Option ID :- 760,
Answer Given:- 4, Option ID : -760
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